


CENTRIFUGAL PUMPS

3D SERIES

CONTENTS S50Hz

Rev. F
Page
- SPECIFICATIONS 200
PERFORMANCE RANGE and SELECTION CHART 201
TYPE KEY 203
PERFORMANCE CURVE SPECIFICATIONS 204
MEI INDEX SPECIFICATIONS 205
PERFORMANCE CURVE 32-125 206
PERFORMANCE CURVE 32-160 207
PERFORMANCE CURVE 32-200 208
PERFORMANCE CURVE 40-125 209
PERFORMANCE CURVE 40-160 210
PERFORMANCE CURVE 40-200 211
PERFORMANCE CURVE 50-125 212
PERFORMANCE CURVE 50-160 213
PERFORMANCE CURVE 50-200 214
PERFORMANCE CURVE 65-125 215
PERFORMANCE CURVE 65-160 216
PERFORMANCE CURVE 65-200 217
- CONSTRUCTIONS 300
SECTIONAL VIEW DRAWING 3D 32, 40, 50, 65 300
SECTIONAL VIEW TABLE 3D 32, 40, 50, 65 301
SECTIONAL VIEW DRAWING 3DS 32, 40, 50 302
SECTIONAL VIEW DRAWING 3DS 65 303
SECTIONAL VIEW TABLE 3DS 32, 40, 50, 65 304
SECTIONAL VIEW DRAWING 3DP 32, 40, 50, 65 305
SECTIONAL VIEW TABLE 3DP 32, 40, 50, 65 306
MECHANICAL SEAL STANDARD, H AND E VERSION 307
MECHANICAL SEAL HS VERSION @22 308
MECHANICAL SEAL HS VERSION @30 309
MECHANICAL SEAL HW AND HSW VERSION 310
BEARINGS 3D 311
BEARINGS 3DS-3DP 312
COUPLING 3DS 313
FLEXIBLE COUPLING 3DP 314
FITTINGS AND GASKET 315
- DIMENSIONS AND WEIGHT 400
PUMP DIMENSIONS 3D UP TO 11kW 400
PUMP DIMENSIONS 3D 15 kW AND ABOVE 401
PUMP DIMENSIONS 3S 32, 40, 50 402
PUMP DIMENSIONS 3S 32, 65 403
PUMP DIMENSIONS 3DS 40, 50, 65 404
PUMP DIMENSIONS 3DS 32, 40, 50, 65 405
PUMP DIMENSIONS 3DP 32, 40, 50, 65 408
PACKING DIMENSIONS 3D 409

100

B Eaana

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3D SERIES

CONTENTS 50Hz
Rev. F
PACKING DIMENSIONS 3DS 410
PACKING DIMENSIONS 3DP 411
- TECHNICAL DATA 500
3D MOTOR DATA 500
3DS-3DP MOTOR DATA 501
3D NOISE DATA 502
3DS-3DP NOISE DATA 503
101

B Eaana

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3D SERIES

SPECIFICATION S50Hz
Rev. F
PUMP
Type of liquid Clean water
min. -5
Liquid Working max. +90 (Standard, USU3EGG, U3CEGG, Q1Q1EGG,
Handled temperature [T] QlU3EGG, Q1AEGG)
max. +110 (H, HS, HW, HSW version)
max. +120 (E version)
Maximum working pressure [MPa] 1
Closed centrifugal type for 32, 40, 50 series
Impeller Reinforced laser welding for 40-200/11, 50-200/15
Construction Closed centrifugal three dimensional blades for 65 series
Shaft seal type Mechanical seal
Bearing Sealed ball bearing
Pipe Suction Flange DN 50, 65 acqording to EN 1092-2
Connection . Flange DN 80 according to UNI 2_236-67 (4 holes)
Discharge Flange DN 32, 40, 50, 65 according to EN 1092-2
Casing Cast iron EN-GJL-250-EN 1561
Impeller AISI 304 (32, 40, 50 se_rigs) _ _
Material AlSI 31_6 made by precision caspng (65 series)
Shaft seal Ceramic/Carbon/NBR (see Optionals on pag. 307-310)
Shaft AISI 304 (wet extension)
Bracket Aluminium/Cast iron
Accessory Counterflange DN 32, 40, 50, 65, 80 (see pag. 315)
Applicable standard of test ISO 9906:2012 — Grade 3B
MOTOR
3D | 3DS | 3DP
Type Electric - TEFC
Single Phase Three Phase
- IE2 from 1.1 kKW to 5.5 kW
Efficiency (Reg. 640/2009) - IE3 from 1.1 KW 1o 22 KW
No. of Poles 2
Rotation speed [min =2900
Insulation Class F | F (temperature rise class B)
Protection degree IP 55
Power rating [kW] 1.1+2.2 1.1+22
[HP] 1.5+3 1.5+30
Frequency [HZ] 50
230/400 £10% (up to 4 kW)
Voltage V] 230 +10% 400/690 +10% (5.5 KW and above)
Capacitor Built in -
Over load protection Provided by the user
Casing material Aluminium
Motor support Cast iron / Aluminium
PG 13.5,
Dimensions of cable entry M20x1.5 Eg ;(15 M32x1.5, M40x1.5
M20x1.5, M25x1.5
IM B5
Flange mount (IEC motor) / (up It,sl %gSkW) IM B3
(3.0 kW and above)
200

B Eaana

EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS 3D SERI ES

SELECTION CHART S50Hz

Rev. F

PERFORMANCE RANGE

26.4 U.S.g.p.m. 60 80 100 200 300 400 500 1000
| | ! | | | | |
| T T T T T T T T T 1
100 22 Imp.g.p.m. 40 60 80 100 200 300 400 500 600 700 800
— 300
80
250
Hoo H
[m] go_|32-200/75__———1 200 [ft]
32-2 —
00/4 5o
403220075 ==
32-160) 37—l
—100
m
1°<=160/1.5 ~ 80
P ERPy
- 60
40
10
—20
5 16.4
100 200 500 1000 2000 3000 Q [I/min]
| T T T T T T T T 1 T T
6 10 20 30 40 50 60 70 80 90100 150 Q [m3/h]
201

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3D SERIES

SELECTION CHART 50Hz
Rev. F
SELECTION CHART
3D SERIES 32 SIZE
Bumn the kw | HP Jumin 0 100/ 150| 200/ 250| 300| 333 360| 400| 450
PP m¥h 0 6 9 12 15 18 20| 216 24 27
32-125/1.1(M) * 11| 15 23] 224 | 212 | 193 | 171 | 144 | 125 : : 5
32-160/1.5(M) * 15| 2 285| 275 | 259 | 237 | 213 | 185 | 164 - - -
32-160/2.2(M) * 22| 3 36.7| 354 | 341 | 322 | 298 | 273 | 255 } } -
32-200/3.0 3| a 24| 43 a1 39 | 365 | 33 31 - - -
32-200/4.0 4 | 55 53] 525 | 51 49 46 43 41 39 } }
32-200/7.5 75| 10 68| 67 65 63 61 57 55 53 50 46
3D SERIES 40 SIZE
Bumn the kw | HP Jumin 0 200/ 250| 300 350| 400| 450 500/ 600 700
PP m¥h 0 12 15 18 21 24 27 30 36 42
20-125/1.5(M) * 15| 2 19] 182 | 176 | 168 | 1690 | 148 | 137 | 124 | 96 | 63
40-12512.2(M) * 22| 3 25| 244 | 239 | 232 | 224 | 214 | 204 | 192 | 165 | 137
20-160/3.0 3| a 31| 294 | 287 | 27.8 | 268 | 258 | 248 | 237 | 214 | 187
20-160/4.0 4 | 55 388| 37.2 | 365 | 357 | 348 | 338 | 328 | 318 | 295 | 27
40-200/5.5 55| 75 455| 445 | 44 43 42 41 40 39 | 363 | 33
40-200/7.5 75| 10 55| 535 | 53 52 | 515 | 505 | 495 | 485 | 46 43
40-200/11 11 | 15 71| 70 69 | 685 | 675 | 67 66 65 63 60
3D SERIES 50 SIZE
kw | HP Jumin 0 400 500 600] 700| 800| 900| 1000/ 1100| 1200
Pump type
m¥h 0 24 30 36 42 48 54 60 66 72
50-125/2.2(M) * 22| 3 195 18 17 | 167 | 142 | 126 | 109 | 9 ; ;
50-125/3.0 3| a 225 215 | 208 | 198 | 185 | 171 | 155 | 138 | 12 10
50-125/4.0 4 | 55 265| 258 | 253 | 245 | 235 | 222 | 207 | 19 | 172 | 153
50-160/5.5 55| 75 33| 32 | 315 | 305 | 293 | 27.9 | 262 | 244 | 224 | 20
50-160/7.5 75| 10 395 382 | 376 | 369 | 358 | 345 | 329 | 309 | 289 | 267
50-200/9.2 92 | 125 515 - 495 | 48 | 465 | 445 | 425 | 40 | 376 | 344
50-200/11 11| 15 575 - 555 | 545 | 525 | 51 29 47 | 445 | 42
50-200/15 15 | 20 71l - 695 | 685 | 67 | 655 | 635 | 615 | 59 56
3D SERIES 65 SIZE
B o kw | HP |umin 0| 600] 700| 1000 1300| 1600/ 1900 2100| 2200 2300
PP m¥h 0 36 22 60 78 96| 114] 126] 132| 138
65-125/4.0 4 | 55 22] 204 | 198 | 172 | 14 | 104 | 6 } ; -
65-125/5.5 55| 75 26| - 25 | 225 | 194 | 155 | 11 8 } }
65-125/7.5 75| 10 31| - 206 | 275 | 247 | 215 | 178 | 147 | 13 }
65-160/7.5 75| 10 3te| - 29 | 266 | 235 | 198 | 155 | 123 - -
65-160/9.2 92 [ 125 365 - 347 | 324 | 296 | 263 | 222 | 188 | 17 ;
65-160/11 11 | 15 205 - 39 37 34 31 27 23 22 20
65-160/15 15 | 20 a8 - 46 44 | 415 | 384 | 346 | 319 | 305 | 29
65-200/15 15 | 20 54| - 51 47 43 | 386 | 333 | 292 | 27 ;
65-200/18.5 185| 25 60| - 58 55 51 47 | 415 | 379 | 359 | 336
65-200/22 22 | 30 68| - 655 | 625 | 585 | 545 | 495 | 46 | 445 | 425
* Single phase version only for 3D type

B Eaana

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3D SERI ES

TYPE KEY AND CURVE SPECIFICATIONS S50Hz
Rev. F
TYPE KEY
[3D| s | H |[65]]200/f 22| [IE3]| |U3U3EGG
U3U3EGG
U3CEGG
SPECIAL MECHANICAL SEAL Q1Q1EGG
Q1U3EGG
QlAEGG
M Single Phase only
MOTOR TYPE IE2 IE2 motor type
IE3 IE3 motor type
1.1 HP 1.5
15 HP 2
2.2 HP 3
3 HP 4
4 HP 5.5
POWER CODE [kW] 5.5 HP 7.5
7.5 HP 10
9.2 HP 12.5
11 HP 15
15 HP 20
18.5 HP 25
22 HP 30
125
IMPELLER CODE 160
200
32
DISCHARGE SIZE 40
50
65
H
HS
OPTIONS MECHANICAL SEAL HW
HSW
E
End suction Close
MODEL TYPE S End suction Close Coupled
P End suction Own Bearings
3D SERIES

203

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3D SERI ES

CURVE SPECIFICATIONS S50Hz

Rev. F

PERFORMANCE CURVE SPECIFICATIONS

The specifications below qualify the curves shown on the following pages.

Tolerances according to Test standard: ISO 9906:2012 — Grade 3B

The curves refer to effective speed of asynchronous motors at 50 Hz, 2 poles.

Measurements were carried out with clean water at 20C of temperature and with a kinematic viscosity
of v=1mm?/s (1 cSt)

The NPSH curve is an average curve obtained in the same conditions of performance curves.

The continuous curves indicate the recommended working range. The dotted curve is only a guide.

In order to avoid the risk of over-heating, the pumps should not be used at a flow rate below 10% of best
efficiency point.

Symbols explanation:

Q = volume flow rate
H = total head
P2 = pump power input (shaft power)
n = pump efficiency
NPSH net positive suction head required by the pump

MEI minimum efficiency index

204

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3D SERI ES

CURVE SPECIFICATIONS S50Hz

Rev. F

MEI INDEX SPECIFICATION

The minimum efficiency index (MEI) is a measure of the quality of a pump size in respect to its mean
efficiency. The minimum efficiency index is based on the hydraulic efficiency and on the head at the best
efficiency point.

The efficiency of a pump with trimmed impeller is usually lower than that of a pump with the full impeller
diameter. The trimming of the impeller will adapt the pump to a fixed duty point, leading to a reduced
energy consumption. The minimum efficiency index (MEI) is based on the full impeller diameter.

The operation of these water pumps with variabile duty points may be more efficient end economical when
controlled, for example, by the use of a variable speed drive that matches the pump duty to the system.

MEI = 0.4 for ESCC 2900 rpm MEI=0.7 for ESCC 2900rpm

)

8 \3
©

{&

(

T
50 60 70

10 2 a0 P 50 6 70 8 % 100 2 3 “ 8 % 100
specific speed ns [rpm] specific speed ns [rpm]
MEI = 0.4 for ESOB 2900 rpm MEI = 0.7 for ESOB 2900rpm

Y,

&

T T

T T T T T T T T T S — T T 1

10 20 30 40 50 " 60 70 80 90 100 10 20 30 40 50 60 70 80 %0 100
apeciicapeed ns rpm| specific speed ns [rpm]

205

5 E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3D SERIES

PERFORMANCE CURVE 50Hz
Rev. F
32-125/1.1 (1.1kW) MEI > 0.70 — impeller diameter = 133 mm
0 USgpm. 20 30 40 50 60 70 80 0 100
| | | | | | | | | | |
[ I I I I [ I I I
’ 0 Imp.g.p.m. 20 30 40 50 60 70 80
- 80
H T I —— H
\ —
[m] ~~L51; 0 1]
20 ~
- 60
N
"~
15 B 50
\‘
N
N
N - 40
10
NPSH [~30
[m] [ft]
62020
5 5
Pl
NPSH - 31010
1 2
ot
0 0
0 50 100 150 200 250 300 350 Q [I/min]
[ I I I I I I I I I I ]
0 2 6 8 10 12 14 16 18 20 22 Q[mh]
16
P2 -
tkw] " B - 125/1.1
0.8 — T
0.4
0 50 100 150 200 250 300 350 Q [I/min]
_ ] 1T
60 - T
o = 125/1.1
L1
50
40
30
0 50 100 150 200 250 300 350 Q [I/min]
Rotation speed = 2900 min-!
Test standard: 1SO 9906:2012 — Grade 3B
206

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3D SERIES

PERFORMANCE CURVE S50Hz
Rev. F
32-160/1.5 (1.5kW) MEI > 0.70 — impeller diameter = 151 mm
32-160/2.2 (2.2kW) MEI > 0.70 — impeller diameter = 166 mm
0 USgpm. 20 30 40 50 60 70 80 90 100
| ] ] ] ] ] | ] ] ] ]
| I I | I | I I I
0 Imp.g.p.m. 20 30 40 50 60 70 80
40 130
H ——+ =1 —120 H
[m] 35 — 7 (#t]
~ 76 110
e
\\\
30 S - —100
—|— = —|—L _| \\\
~— N 90
= 76'0 \\\,'
2 ~. 5 - 80
N
\\\
TN NS |
2 RN [m] [11]
N 60
N 25
~ 7
" 2
15 5 450
NPSH ol
s
10
0 50 100 150 200 250 300 350 Q [1/min]
[ | I I I I I I I I I I ]
0 2 4 6 8 10 12 14 16 18 20 22 Q[m3h]
24
—— 160/2.2
P2 20 — T | |/ |
kW e I
K — 160/1.5
1.2 e T
0.8
0 50 100 150 200 250 300 350 Q [1/min]
70
. mEN
160/2.2
[%) 60 = ~F 160/1.5
=
50
P
1
40
0 50 100 150 200 250 300 350 Q [1/min]
Rotation speed = 2900 min-!
Test standard: 1SO 9906:2012 — Grade 3B
207

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3D SERIES

PERFORMANCE CURVE S50Hz
Rev. F
32-200/3.0 (3.0kwW) MEI > 0.40 — impeller diameter = 186 mm
32-200/4.0 (4.0kw) MEI > 0.40 — impeller diameter = 200 mm
32-200/7.5 (7.5kW) MEI > 0.50 — impeller diameter = 224 mm
0 USgpm. 20 30 40 50 60 70 80 90 100 110 120 130
| | | | | | | | | | | | | |
[ I I I I [ I I I I [ |
0 Imp.g.p.m. 20 30 40 50 60 70 80 0 100 110
80 - 260
H 240 H
[m] 70 [ft]
Tl [ - 220
60 275 - 200
™~
NN
~_ 180
I B R S~
T ™
50 ——
I~
T+ ~~ NPSH 140
~ ™~
40 e~ ~ [m] [ft]
<95 -
\0\ 8, [120
™~ ; 612
30 ] 4__15 —100
NPSH T 10
2 - 80
-5
20
0 50 100 150 200 250 300 350 400 450 Q [I/min]
| T T T T T T T T T T T T T |
0 2 4 6 8 0 12 14 16 18 20 22 24 26 28 Q[m3/]
8
0, HEN
200/7.5
k) ° EENmm——— /
4 T 200/4.0
= =T 200/3.0 ‘
) | L
0 50 100 150 200 250 300 350 400 450 Q [I/min]
60 ———
200/3.0 L | [200/4.0 ]
n ’,,/’ 0 200/7.5
[%] ;/://,/’
40 1T~
AT
30 2 al
20
0 50 100 150 200 250 300 350 400 450 Q [I/min]
Rotation speed = 2900 min-!
Test standard: 1ISO 9906:2012 — Grade 3B
208

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3D SERIES

PERFORMANCE CURVE S50Hz
Rev. F
40-125/1.5 (1.5kW) MEI > 0.50 — impeller diameter = 125 mm
40-125/2.2 (2.2kW) MEI > 0.50 — impeller diameter = 140 mm
0 US.gp.m. 40 60 80 100 120 140 160 180 200
| | | | | | | | | | |
| I I I I | | I I
© 0 Imp.g.p.m. 40 60 80 100 120 140 160
- 90
H H
ft
[m] 25 L u / a0 [ft]
™ —70
20 ~
— — \\ _60
T~ 725 N
" ~"7.5 SN - 50
\\ \\
N - 40
10 ~ NPSH
N [m] [ft]}- 30
™S L2
7_
-+ 20120
> = I
NPSH | ——T" 31010
s
0 0
0 100 200 300 400 500 600 700 Q [I/min]
[ I I I I I I I I I ]
0 4 12 16 20 24 28 32 36 40 44 Q[mm)
3
LT
P2, 125/2.2] |
[kW] [ E—— Lol
1 125/1.57 |
0
0 100 200 300 400 500 600 700 Q [I/min]
80
n
[%] 70 P N 125/2.2 +—
60 /‘/r4// \\\
A N 125/15] |
5 |1
0 100 200 300 400 500 600 700 Q [I/min]
Rotation speed = 2900 min-!
Test standard: 1ISO 9906:2012 — Grade 3B
209

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3D SERIES

PERFORMANCE CURVE S50Hz
Rev. F
40-160/3.0 (3.0kwW) MEI > 0.70 — impeller diameter = 151 mm
40-160/4.0 (4.0kw) MEI > 0.70 — impeller diameter = 166 mm
0 USgpm. 40 60 80 100 120 140 160 180 200
| | | | | | | | | | |
| I I I I | I I I
" 0 Imp.g.p.m. 40 60 80 100 120 140 160
140
H H
m] O 130 [f]
—~ 60 120
35 — "0
~ - 110
™~~~
I~
30 T |~ _100
—
N~ 7 90
25 J - 80
I~
N
NPSH |70
20 ™ [m] [ft]
- 60
M
2
15 5 45 [0
NPSH
e 3T
105
10
0 100 200 300 400 500 600 700 Q [I/min]
[ I I I I I I I I I I ]
0 4 12 16 20 24 28 32 36 40 44 Q [m3/h]
5
[ 11
P2 4 ———— 160/4.0+—
[kw] [ — ] 1
3 E——— 160/3.07]
2 T =T
1
0 100 200 300 400 500 600 700 Q [I/min]
80
160/4.0
N p—— —~{160/3.07 |
[%] 70 e
= |
60 2
////
50
0 100 200 300 400 500 600 700 Q [I/min]
Rotation speed = 2900 min-!
Test standard: 1ISO 9906:2012 — Grade 3B
210

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3D SERI ES

PERFORMANCE CURVE S50Hz

Rev. F

40-200/5.5 (5.5kW) MEI > 0.70 — impeller diameter = 183 mm
40-200/7.5 (7.5kW) MEI > 0.70 — impeller diameter = 200 mm
40-200/11 (11kW) MEI > 0.70 — impeller diameter = 224 mm

0 US.gpm. 40 60 80 100 120 140 160 180 200
| | | | | | | | | | |
[ I I I I [ I I I
5o 0_mpgpm. 40 60 80 100 120 140 160
250
H H
[m] 70 - = . 230 [ft]
— 2001
\\\
— 210
60 -
190
T 200,75 170
50 S————
T —
= e T~ 150
40 — ] NPSH L 130
< [m] [ft]
T~—
S~ 7 o110
30 5 45
NPSH N sl
5
1 n
2 70
0 100 200 300 400 500 600 700 Q [1/min]
[ [ [ [ [ [ [ [ [ [ [ [ 1
0 4 8 12 16 20 24 28 32 36 40 44 Q[m3n)
12 T
P, 10 —— 200/111
kw] 8 — — | Foro
e ) e 200,/7.5
] — 200/5.5
4 ——— Ll
) -
0 100 200 300 400 500 600 700 Q [1/min]
80 T L[]
70 L2007 /5,5
(%) 60 = —
=
50 T
40 200/11
30 L1
0 100 200 300 400 500 600 700 Q [I/min]

Rotation speed = 2900 min-!
Test standard: ISO 9906:2012 — Grade 3B

211

5 E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3D SERI ES

PERFORMANCE CURVE S50Hz

Rev. F

50-125/2.2 (2.2kW) MEI > 0.60 — impeller diameter = 126 mm
50-125/3.0 (3.0kW) MEI > 0.60 — impeller diameter = 131 mm
50-125/4.0 (4.0kw) MEI > 0.60 — impeller diameter = 140 mm

0 US.gp.m. 50 100 150 200 250 300 350
| | | | | | | |
[ [ [ [ [ [ [
30 0 Imp.g.p.m. 50 100 150 200 250 300
H I R I H
[m] 25 — [ft]
7 - 80
- R,
= -\0\ \\
T~ \\
20 +—1— 7
_— —~ N 2\5/30 0
N N
, ~ N
15 L P S~C
— N~
N - 40
\
10
NPSH
[m] [ft]
A |
s g g 2020
15
NPSH - :
— 3 10
— | 2
1 5
0 0
0 200 400 600 800 1000 1200 Q [I/min]
[ [ [ [ [ [ [ [ [
0 10 20 30 40 50 60 70 Q [m3/h]
6
[ ]
P2 T T
e —— 125/3.0 11
2 125/2.2
0 [
0 200 400 600 800 1000 1200 Q [I/min]
1 —~1125/4.0
n ‘7 \\ \\ ‘/ |
(7] 70 = 125/2.2 125,/3.0
60
50
0 200 400 600 800 1000 1200 Q [1/min]

Rotation speed = 2900 min-!
Test standard: ISO 9906:2012 — Grade 3B

212

5 E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3D SERIES

PERFORMANCE CURVE S50Hz
Rev. F
50-160/5.5 (5.5kW) MEI > 0.70 — impeller diameter = 154 mm
50-160/7.5 (7.5kW) MEI > 0.70 — impeller diameter = 166 mm
0 USgpm. 50 100 150 200 250 300 350
| | | | | | | |
[ I I | I | I
50 0 Impgpm. 50 100 150 200 250 300
160
H H
(m] g [T
L e e
= = 7
\% —120
N R R ~
30 B 5 100
N
~ ™~
™ g NPSH [~ 80
< [m] [ft]
20 10
8 0 - 60
= 6120
NPSH B—— — i
S e e 2 40
10
0 200 400 600 800 1000 1200 Q [I/min]
[ I I I I I I I I
0 10 20 30 40 50 60 70 Q [m3/h]
8 T T
P, L 1160/7.54—
6 — — —
(kW] - — ] 160/5.5—]
4 — —— |
2
0 200 400 600 800 1000 1200 Q [1/min]
90
n
%) 80 _
(7] _—T ——160/7.5 | |
. = ~~160/5.5
e
60
0 200 400 600 800 1000 1200 Q [1/min]
Rotation speed = 2900 min-!
Test standard: 1SO 9906:2012 — Grade 3B
213

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3D SERIES

PERFORMANCE CURVE S50Hz
Rev. F
50-200/9.2 (9.2kW) MEI > 0.70 — impeller diameter = 191 mm
50-200/11 (11kwW) MEI > 0.70 — impeller diameter = 200 mm
50-200/15 (15kW) MEI > 0.70 — impeller diameter = 224 mm
0 USgpm. 50 100 150 200 250 300 350
| | | | | | | |
[ I I | I [ I
0 Imp.gpm. 50 100 150 200 250 300
80 - 260
H -240 H
(m] 0 r—— —1—200/15 A
~ - 220
I~
~~
60 ~ - 200
T 1 —1 200 180
50 = 200/, L 160
—
~ ~
™~ NPSH 140
40 [m] [ft]
] 845120
e
- 620
30 - s 100
NPSH — 1L
— 2, [80
20
0 200 400 600 800 1000 1200 Q [I/min]
[ I I I I I I I I
0 10 20 30 40 50 60 70 Q [m3/h]
18 —
P, | 200/15
[kw] I 1
12 T [ ——— 290/11
L ] 200/9.2] |
0 200 400 600 800 1000 1200 Q [I/min]
80
n ———
[%] 70 //5/ —
200/9.2] 4 —
60 200/11 7 _—]
200/15[
50 ! |
0 200 400 600 800 1000 1200 Q [I/min]
Rotation speed = 2900 min-!
Test standard: 1ISO 9906:2012 — Grade 3B
214

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3D SERIES

PERFORMANCE CURVE S50Hz
Rev. F
65-125/4.0 (4.0kW) MEI > 0.70 — impeller diameter = 128 mm
65-125/5.5 (5.5kW) MEI > 0.70 — impeller diameter = 138 mm
65-125/7.5 (7.5kW) MEI > 0.70 — impeller diameter = 149 mm
0 U.S.g.p.m. 100 200 300 400 500 600 700
| | | | | | | |
" 0 Imp.g.p.m. 100 200 300 400 500 600
- 120
H
[m] (]
O o e e e L — 100
I~
— \\ /
i a 3 5 - 80
. ~ _—
T N N
20 /2 N,
\\\ 5 5 \\ .
~ ~ \\
2
240 N NPSH
>N ™ [m] [ft] |40
N AN "
10 S
~N b 30
AN ™ 8
620 [-20
NPSH .
m 10
2
0 0
0 400 800 1200 1600 2000 2400 Q [I/min]
[ I I I I I I I I
0 20 40 60 80 100 120 140 Q [m3/h]
8 T
P, 6 p——— 12‘5/7|.5
— T
[k) — 125/5.5
4 =T |
—T | 125/4.0
2 i | |
0 400 800 1200 1600 2000 2400 Q [I/min]
90
n —
(%] 80 — ™~ N
70 -~ N N N
L~ AN N125/7.5
60 125 /40NN ——
50 | N [N125/5.5
0 400 800 1200 1600 2000 2400 Q [I/min]
Rotation speed = 2900 min-!
Test standard: 1SO 9906:2012 — Grade 3B
215

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3D SERIES

PERFORMANCE CURVE S50Hz
Rev. F
65-160/7.5 (7.5kW) MEI > 0.70 — impeller diameter = 153 mm
65-160/9.2 (9.2kW) MEI > 0.70 — impeller diameter = 160 mm
65-160/11 (11kW) MEI > 0.70 — impeller diameter = 168 mm
65-160/15 (15kW) MEI > 0.70 — impeller diameter = 178 mm
0 US.g.p.m. 100 200 300 400 500 600 700
| | | | | | | |
0 Imp.g.p.m. 100 200 300 400 500 600
” — 160
H T —
S~/ 140
I 95 [
T —— L TN
L il ™~ ; | - 120
B 6
~ \\OQ N
W TTT+1 ~ /@ ™~ L 100
~—_ ~90 N ~
~ TN N
\/7«-5 h N
N~ N
20 <
\\ N 60
I N NPSH
D [m] [ft]
- 20 |40
10 Pz g
— 15
NPSH — 4
- = 310 |20
2
s
0 0
0 400 800 1200 1600 2000 2400 Q [I/min]
cl) 2‘0 4‘0 BIO 8|0 1(‘)0 12‘0 14|t0 IQ [m3/h]
16 T
P, p——— 160/15
] 12 — | | ] 160,/11
8 — T —— 160/9.2
1 160/7.5
4 — ! !
0 400 800 1200 1600 2000 2400 Q [I/min]
90
n
(%] 80 — ]
/,;;// ~ \‘\%\\ 160/15
| |
7 % ~N160/11
N160/9.2
5 160/7{5 C |
0 400 800 1200 1600 2000 2400 Q [I/min]
Rotation speed = 2900 min-!
Test standard: 1SO 9906:2012 — Grade 3B
216

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3D SERI ES

PERFORMANCE CURVE S50Hz

Rev. F

65-200/15 (15kwW) MEI > 0.60 — impeller diameter = 190 mm

65-200/18.5 (18.5kW) MEI > 0.60 — impeller diameter = 201 mm

65-200/22 (22kwW) MEI > 0.60 — impeller diameter = 212 mm
300

0 US.gpm. 100 200 400 500 600 700
| | | | | | | |
[ [ I [ I [ [
1 0 megpm. 100 200 300 400 500 600
——t 220
H <
N
(m] S [0 [Tt
60 e 900/
-~ « 2
\\f"
~. \\ 180
—T— ~N._<0
L N 0 NG
50 S N8 N
\\\ N —160
N \\\
\\ 200 \\ \\
NS5 NG 140
40 ™\
\\
\\\ 120
NG NPSH
\\\ [m] [ft] 0
0 \\ 8 30
N
NPSH —~ 6120
—— — 4 o 8
— 2
20
0 400 800 1200 1600 2000 2400 Q [I/min]
[ I I I I I [ I I
0 20 40 60 80 100 120 140 Q [m3/h]
24
P, — L 200/22
[ — - 200,/18.5
T —— —r——200/15
8 — -
0 400 800 1200 1600 2000 2400 Q [1/min]
90
n
[%] 80
= 200,/22
7 —T | ——
70 — T 200/18.5
s .
~ 200/15
60 :
0 400 800 1200 1600 2000 2400 Q [1/min]

Rotation speed = 2900 min-!
Test standard: 1SO 9906:2012 — Grade 3B

217

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3D SERI ES

CONSTRUCTION S50Hz

Rev. F

SECTIONAL VIEW DRAWING 3D 32, 40, 50, 65

UP TO 11 kW
1 75 24 4 26 72 56 16 17 58 6 12 2
i |
,,,,,, —
| )
32—k H :J_

)

M3 235 200 18 92 19 22 42 20 13

15 kW AND ABOVE

206

|
[

300

5 E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3D SERIES

CONSTRUCTION

S50Hz

3D SECTIONAL VIEW TABLE

Rev. F

N° PART NAME MATERIAL DIMENSIONS STANDARD QTY
001 |Casing Cast iron EN-GJL-250-EN 1561 1
003 | Motor bracket [1] 1
004 |Casing cover EN 1.4301 (AISI 304) 1
006 |Shatft with rotor - Wet extension EN 1.4301 (AISI 304) 1
007 |Impeller [2] 1
011 |Mechanical seal [3] [3] 1
012 |Motor frame with stator - 1
013 |Motor cover Aluminium 1
014 |Fan PA 1
015 |Fan cover Fe P04 Galvanized 1
016 | Terminal - 1
017 | Terminal box cover Aluminium (three phase \ersion) 1
- |Upto 11 kW 40x21.5x2
018 |Splash ring ‘15 W and above NBR 50x29.5x3 EBARA DRAWING| 1
019 |Bearing - See table p. 311 1
020 |Bearing - See table p. 311 1
021 |Adjusting ring Steel C70 1
Up to 3 kW M5
022 Tie rod For4-55-75kw Fe 42 Galvanized M6 EBARA DRAWING 4
9.2 e 11kW M8
Screw 15 kW and above Guv. Steel 8.8 strenght class I1SO 898-1 M10x40 UNI 5739
24 |Priming plug Brass G 3/8" L=8 1
25 |Draing plug Brass G 3/8" L=8 1
32-125, 40-125 158.11x5.34 OR 6625
026 |"0" ring 32-160, 40-160, 50-125, 65-125 NBR [4] 183.52x5.34 OR 6720 1
32-200, 40-200,50-160, 227.96x5.34 OR 6895
50-200, 65-160, 65-200
Up to 11 kW
032 |Key 5(?—200/15 EN 1.4401 (AISI 316) A 6x6x25 UNI 6604 1
15 kW and above A 8x7x30
Up to 11kW M16x1.5
034 |Impeller nut |50-200/15 EN 1.4301 (AIS| 304) M18x1.5 UNI 7474 1
15 kW and above M20x1.5
042 | Foot Aluminium / Galvanized steel EBARA DRAWING| [5]
056 |Box gasket NBR 1
058 | Cable gland - [6]
072 | Casing ring EN 1.4301 (AISI 304) 1
8;2 xzz::: 2:32::32 22x17x1.5 |EBARA DRAWING —i
Up to 3kW 25x40x7
092 |Lip seal From 4 to 7.5 kW ~ 30x47X7 .DIN 3769 1
From 9.2 kW to 11 kW 40x55x7 without spring
From 15 kW to 22 kW 45x60x7
Up to 4 kW 25x40x7
093 |Lip seal From 5.5 kW to 7.5 kW ~ 30x47X7 .DIN 376(? 1
From 9.2 kW to 11 kW 40x55x7 without spring
From 15 kW to 22 kW 45x60x7
101 |Snap ring [8] Carbon tool steels TC 80 3 40 UNI 7435 1
32-125
40-125 M 8x30 8
32-160
40-160 10
200 |Screw 50-125 Gv. Steel 8.8 strenght class I1SO 898-1 UNI 5739
65-125 M 10x35
32-200, 40-200
50-160, 50-200 12
65-160, 65-200
32-125
20-125 8.4x17 8
32-160
40-160 10
235 |Washer 50-125 Galvanized Steel UNI 6592
65-125 10.5x21
32-200, 40-200
50-160, 50-200 12
65-160, 65-200
206 |Screw for bracket [9]| Guv. Steel 8.8 strenght class I1SO 898-1 M 10x40 UNI 5739 4

Counterflange kit on request see p. 315

[1] Castiron EN-GJL-200-EN 1561 for 3D 32-200/3 and models with [5]

15, 18.5, 22 kW motor

Aluminum AL-EN-1706-AC-46000-D for all the others;
[2] EN 1.4301 (AISI 304) for 32, 40, 50 series;

EN 1.4401 (AISI 316) for 65 series

[3] For special version and dimensions see pag. 307+310 [7]

[4] FPM for H, HS, HW, HSW version;

EPDM for E version, QLAEGG, U3U3EGG*(Not available for [8]
models 65-160/15 and 65-200), Q1Q1EGG, Q1U3EGG, [9]

U3CEGG

0 for 65-160/15 kW;

1 for pumps up to 11 kW

2 for 65-200/15, 18.5, 22 kW

[6] 1 for pumps with motor up to 11 kW

2 for pumps with 15 kW motor and above
Only for: 32-200, 40-200, 50-160, 50-200/9.2,
50-200/11

Only for pumps with 9.2 and 11 kW motor
Only for pumps with 15 kW motor and above

301

E2ARA

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3D SERI ES

CONSTRUCTION S50Hz

Rev. F

3DS 32, 40, 50 SECTIONAL VIEW DRAWING

717524 4 2611 5 44 6206 58

34
32
25
76

42 1

DL )

napnannnnn

uluuuuuuuu

==

) | |

302

5 E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3D SERI ES

CONSTRUCTION S50Hz

Rev. F

3DS 65 SECTIONAL VIEW DRAWING

3A 206
[ []
[ L N
[ annnnnn
I
1l e i 1 A I N B e ] L
| YUUULLU
@ ‘ _ = ﬁ\: c:%J ‘ O 11
| 4
235 206-2
‘
|
| 3/:/
00000000007 |
ﬂﬂﬂﬂﬂﬁﬂﬂﬂﬁﬁﬂ‘ﬁ |
S R _< ..... S I — - . AL
UuUuUULLULLLL| |
| 1090000000000
— — ||
! | —L wml r ! \
o T T e k""\_\ ______ (i \
42 12

303

5 E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3D SERI ES

CONSTRUCTION S50Hz

Rev. F
3DS 32, 40, 50, 65 SECTIONAL VIEW TABLE
N° PART NAME MATERIAL DIMENSIONS STANDARD Q.TY
001 |Casing Cast iron EN-GJL-200-EN 1561 1
003 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
003A |Adapter ring [1] Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4301 (AISI 304) 1
006 |Coupling - Wet extensions EN 1.4301 (AISI 304) See table p. 313 1
007 [Impeller [2] 1
011 |Mechanical seal [3] [3] 1
012 |Motor - 1
024 |Priming plug Brass G 3/8" L=8 1
025 |Draing plug Brass G 3/8" L=8 1
32-12540-125 158.11x5.34 OR 6625
026 |"0" ring ’;‘;;gg 28:;28,550(3-116205, 65-125 NBR [4] 183.52x5.34 OR 6720 1
50-200: 65-160: 65-206 227.96x5.34 OR 6895
Up to 11 kW 6x6x25
032 |Key 50-200/15 EN 1.4401 (AISI 316) UNI 6604 1
15 kW and above 8x7x30
Up to 11kW M16x1.5
034 |Impeller nut 50-200/15 EN 1.4301 (AISI 304) M18x1.5 UNI 7474 1
15 kW and above M20x1.5
042 |Foot Galvanized Steel [5]
044 |Protection EN 1.4301 (AISI 304) EBARA DRAWING| 1
058 |Cable gland -
072 |Casing ring [6] EN 1.4301 (AISI 304) 1
8;2 w::::: 2::2:::2 22x17xL.5 EBARA DRAWING 1
32-125
40-125 M8x30 8
32-160
40-160 10
200 Screw 50-125 Gv. Steel 8.8 strenght class ISO 898-1 UNI 5739
65-125 M10x35
32-200, 40-200
50-160, 50-200 12
65-160, 65-200
201 |Screw [7] Gv. Steel 8.8 strenght class 1SO 898-1 M10x16 UNI 5739 2
206 |Screw for bracket Gv. Steel 8.8 strenght class 1ISO 898-1 M10x40 UNI 5739 4
206-2|Screw adapter ring [1] Gv. Steel 8.8 strenght class 1SO 898-1 M12x20 UNI 5931 4
32125 17 5
32-160
40-160 ) 10
235 Washer 50-125 Galvanized Steel UNI 6592
65-125 10.5x21
32-200, 40-200
50-160, 50-200 12
65-160, 65-200
Counterflange kit on request see p. 315
[1] Only for 65-125/5.5 and 65-125/7.5 [5] O for version 65-200/22
[2] EN 1.4301 (AISI 304) for 32, 40, 50 series; 1 for version for 32, 40, 50, 65-125/5.5, 65-125/7.5, 65-160/11,
EN 1.4401 (AISI 316) for 65 series 65-160/15, 65-200/15, 65-200/18.5
[3] See pag. 307+310 2 for version for 65-125/4, 65-160/7.5, 65-160/9.2
[4] FPM for H, HS, HW, HSW version; [6] Only for: 32-200, 40-200, 50-160, 50-200
EPDM for E, Q1AEGG, U3U3EGG*(Not available for models [7] Only for version 32-125/1.1, 32-160/1.5, 32-160/2.2, 40-
65-160/15 and 65-200), Q1Q1EGG, Q1U3EGG, U3CEGG 125/1.5, 40-125/2.2, 50-125/2.2

304

5 E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3D SERIES

CONSTRUCTION 50Hz
Rev. F
SECTIONAL VIEW DRAWING 3DP 32, 40, 50, 65
|
| I
N 1
" |
|
: - ft
| L
o — | |
© i | \\
| N O
| )
| = e
. ; N
ZF\| | | .
$\< - ! 8
' S
- I
[q\] N
T <
o |
. |
o |
© |
N
5 | "
= } — §
| -~
© N
©__|
M
<+ 1 _
305

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3D SERIES

CONSTRUCTION

S50Hz

SECTIONAL VIEW TABLE 3DP 32, 40, 50, 65

N° PART NAME MATERIAL DIMENSIONS STANDARD
001 |Casing Cast iron EN-GJL-200-EN 1561
003 |Support Cast iron EN-GJL-200-EN 1561
004 |Casing cover EN 1.4301 (AISI 304)
006 |Shaft - Wet extension EN 1.4301 (AISI 304)
006A |Flexible coupling Cast iron EN-GJL-250-EN 1561 See table p. 314
007 |Impeller [1]
011 |Mechanical seal 2 [2
012 |Motor -
019 |Bearing - See table p. 312
020 |Bearing - See table p. 312
024 |Priming plug Brass G 3/8" L=8 DIN 906
025 |Draing plug Brass G 3/8" L=8 DIN 906
32-125, 40-125 158.11x5.34 OR 6625
026 |"O" ring 32-160, 40-160, 50-125, 65-125 NBR [3] 183.52x5.34 OR 6720
32-200, 40-200, 50-160, 227.96x5.34 OR 6895
50-200, 65-160, 65-200
Up to 11 kW
032 |Key 58—200/15 EN 1.4401 (AISI 316) 6x6x25 UNI 6604
15 kW and abowe 8x7x30
033 [Key C 40 8Xx7x40 UNI 6604
Up to 11kW M16x1.5
034 [Impeller nut 50-200/15 EN 1.4301 (AISI 304) M18x1.5 UNI 7474
15 kW and abowe M20x1.5
042 |Pump support Fe 37 Galvanized EBARA DRAWING
042A |Base Fe 37 Galvanized
044 |Protection Fe 37 Galvanized
050 |Foot Aluminium / Galvanized steel
058 |Cable gland -
066 |Impeller side bearing cover Cast iron EN-GJL-200-EN 1561
067 |Motor side bearing cover Cast iron EN-GJL-200-EN 1561
072 |Casing ring [4] EN 1.4301 (AISI 304)
075 |Washer Aluminum 22x17x1.5 EBARA DRAWING
076 |Washer Aluminum 22x17x1.5 EBARA DRAWING
092 ["V"ring - VS - 0030
093 [|"V"ring - VS - 0030
32-125
40125 M 8x30
32-160
40-160
200 Screw 50-125 Gv. Steel 8.8 strenght class ISO 898-1 UNI 5739
65-125 M 10x35
32-200, 40-200
50-160, 50-200
65-160, 65-200
32-125
20125 8.4x17
32-160
40-160
235 Washer 50-125 Galvanized Steel UNI 6592
65-125 10.5x21
32-200, 40-200
50-160, 50-200
65-160, 65-200

Counterflange kit on request see p. 315

[1] EN 1.4301 (AISI 304) for 32, 40, 50 series;
EN 1.4401 (AISI 316) for 65 series
[2] See pag. 307+310

[8] FPM for H, HS, HW, HSW version;
EPDM for E, QLAEGG, U3U3EGG*(Not available for models
65-160/15 and 65-200), Q1Q1EGG, Q1U3EGG, U3CEGG

[4] Only for: 32-200, 40-200, 50-160, 50-200

Rev. F

306

B Eaana

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3D SERI ES

CONSTRUCTION S50Hz

Rev. F

MECHANICAL SEAL (standard, H, E and special version)

#d3
-
P

@d2

pd1
pd4
$d5

Dimensions Material
1 2 3 4
di d2 d3 | d4 | d5 L L1 L2 | Stationary| Rotary Frame +

. . Rubber .
seal ring | sealring Spring

Version Pump type

32-125/160/200
40-125/160/200
50-125/160/200 22 19 38 31 37 |37.5|27.5| 10
Standard |65-125 Carbon Ceramic | NBR
65-160/7.5-9.2-11
65.160/15

65-200

32-125/160/200
40-125/160/200
50-125/160/200 22 19 38 31 37 |37.5|27.5| 10
H 65-125 Carbon Ceramic | FPM
65-160/7.5-9.2-11
65-160/15

65-200

32-125/160/200
40-125/160/200
50-125/160/200 22 19 38 31 37 |37.5|27.5| 10
E 65-125 Carbon Ceramic | EPDM
65-160/7.5-9.2-11
65-160/15

65-200

65-160/15 Silicon Metallised EN 1.4401
*
QlAEGG 65-200 30 24 46 39 45 42.5] 325 10 Carbide Carbon EPDM (AISI 316)

* The drawing is only indicative

EN 1.4401
(AISI 316)

30 24 | 46 | 39 | 45 |425]|32.5| 10

EN 1.4401
(AISI 316)

30 24 | 46 | 39 | 45 |425]|32.5| 10

EN 1.4401
(AISI 316)

30 24 | 46 | 39 | 45 |425]|32.5| 10

307

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3D SERI ES

CONSTRUCTION S50Hz

Rev. F

MECHANICAL SEAL (HS version g22)

3
|
N ™~
N M
= ASS
|
28.5 9
37.5
Material
Version Pump type st t'l R t2 3 . 4
a |or?ary o) a.ry Rubber ran.we
seal ring | seal ring +spring
32-125/160/200
w2 [sorman | sc | sc | o | VLT
) (AISI 316Ti)
65-125
65-160/7.5-9.2-11
32-125/160/200
QIAEGG* Aslg_ﬁ?ﬁggggg sic | Metallised | oy, | EN 1.4401
) Carbon (AISI 316)
65-125
65-160/7.5-9.2-11

*The drawing is only indicative

308

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3D SERIES

CONSTRUCTION S50Hz
Rev. F
MECHANICAL SEAL (HS version g30)
42.5
(31) ‘ 11.5
o0 @ ‘
3 , / \ \ |
4 5 2 1 3 ‘
3 g s —+ g g
~ |
S %ﬂm
Material
Versi P N 1 2 3 4
ersion ump type Stationary | Rotary Rubb Frame
sealring | seal ring ubber + spring
65-160/15 . . EN 1.4571
HS230 | 500 SiC Ssic FPM (AIS! 316Ti)
309

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3D SERI ES

CONSTRUCTION S50Hz

Rev. F

MECHANICAL SEAL (HW, HSW and special version)

B WA@ f

#d3

pd1
pd2
i
|
|
|
|
|
|
0
$d4
pd5

Bl

Dimensions Material
1 2 3 4
dl | d2 | d3 | d4 | d5 L | L1 [ L2 | Stationary Rotary Frame

. ) Rubber .
seal ring seal ring + spring

Version Pump type

32-125/160/200
40-125/160/200
50-125/160/200 22119 | 38 | 31 | 37 |37.5|27.5] 10
HW 65-125
65-160/7.5-9.2-11
65-160/15
65-200
32-125/160/200
40-125/160/200
50-125/160/200 22 |1 19 | 38 | 31 | 37 |37.5|27.5| 10
HSW 65-125
65-160/7.5-9.2-11
65-160/15
65-200
32-125/160/200
40-125/160/200
U3UBEGG* |50-125/160/200 22119 | 38 | 31 | 37 |37.5|27.5] 10
65-125
65-160/7.5-9.2-11
32-125/160/200
40-125/160/200
50-125/160/200 22 |1 19 | 38 | 31 | 37 |37.5|27.5| 10

Silicon Silicon EN 1.4401
QLQIEGG* |65-125 camvide | camide | E°PM | (aisizie)
65-160/7.5-9.2-11
65-160/15
65-200
32-125/160/200
40-125/160/200
50-125/160/200 22119 | 38 | 31 | 37 |37.5|27.5] 10
Q1U3EGG* [65-125
65-160/7.5-9.2-11
65-160/15
65-200
32-125/160/200
40-125/160/200
50-125/160/200 22 19 38 31 37 |375|27.5] 10
U3CEGG* 65-125
65-160/7.5-9.2-11
65-160/15
65-200
* The drawing is only indicative

Tungsten | Tungsten EPM EN 1.4401
Carbide Carbide (AISI 316)

30 | 24 | 46 | 39 | 45 |42.5]|32.5] 10

Tungsten Silicon EPM EN 1.4401
Carbide Carbide (AISI 316)

30 | 24 | 46 | 39 | 45 |42.5]|32.5] 10

Tungsten | Tungsten EPDM EN 1.4401
Carbide Carbide (AISI 316)

30 | 24 | 46 | 39 | 45 |42.5]|32.5] 10

Silicon Tungsten EN 1.4401
Carbide Carbide EPDM (AIS1316)

30 | 24 | 46 | 39 | 45 |42.5]|32.5] 10

Tungsten Special EN 1.4401
Carbide Carbon EPDM (AIS1316)

30 | 24 | 46 | 39 | 45 |42.5]|32.5] 10

310

5 E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3D SERIES

CONSTRUCTION S50Hz
Rev. F
3D BEARINGS
Bal bearing
Pump type *) *)
Pump side Pumpside Fanside Fan side

3D 32-125/1.1
3D 32-160/1.5 6205-2RSH | 6205-ZZC3
3D 32-160/2.2 6205-2RSH 6205-ZZ C3
3D 32-200/3.0
3D 32-200/4.0 6206-2RS1 6206-ZZ C3
3D 32-200/7.5 6306-2RS1 6306-ZZ C3 6206-2RS1 6206-ZZ C3
3D 40-125/1.5

- 6205-2RSH 6205-ZZ C3
8D 40-125/2.2 6205-2RSH 6205-ZZ C3
3D 40-160/3.0
3D 40-160/4.0 6206-2RS1 6206-ZZ C3
3D 40-200/5.5 6306 2RS1 6306-ZZ C3 6206-2RS1 6206-ZZ C3
3D 40-200/7.5
3D 40-200/11 6308-2RS1 6308-ZZ C3 6208-2RS1 6208-ZZ C3
3D 50-125/2.2 6205-2RSH | 6205-ZZC3
3D 50-125/3.0 6205-2RSH 6205-ZZ C3
3D 50-125/4.0 6206-2RS1 6206-ZZ C3
3D 50-160/5.5 6306-2RS1 6306-ZZ C3 6206-2RS1 6206-ZZ C3
3D 50-160/7.5
3D 50-200/8.2 6308-2RS1 6308-ZZ C3 6208-2RS1 6208-ZZ C3
3D 50-200/11
3D 50-200/15 6309-2RS1 6309-2Z C3 6309-2RS1 6309-Z2Z C3
3D 65-125/4.0 6206-2RS1 6206-ZZ C3 6205-2RSH 6205-ZZ C3
3D 65-125/5.5 6306-2RS1 6306-ZZ C3 6206-2RS1 6206-ZZ C3
3D 65-160/7.5
3D 65-160/5.2 6308-2RS1 6308-ZZ C3 6208-2RS1 6208-ZZ C3
3D 65-160/11
3D 65-160/15
3D 65-200/15 6309-2RS1 6309-ZZ C3 6309-2RS1 6309-ZZ C3
3D 65-200/18.5
3D 65-200/22
(*) Only for IE3 Motors

B Eaana

EBARA PUMPS EUROPE S.p.A.



3D SERIES

CENTRIFUGAL PUMPS

CONSTRUCTION S50Hz

Rev. F

3DS-3DP BEARINGS

Ball bearing Ball bearing
Pu e Pum e Pum Motor
™ bp Pump side Fan side PP . P . . .
Pump side Motorside Pumpside Fanside
3DS32-125/1.1 6204-27 C3 | 620427 C3 3DP 32-125/1.1 620427 C3 6204-27 C3
3 3 -2RS1 6206-2RS1
3DS32-160/1.5 6205-2Z C3 | 62052Z C3 3DP 32-16011.5 6306-2R 6205-2Z C3 6205-2Z C3
3DS 32-160/2.2 3DP 32-160/2.2
3DS 32-200/3.0 6206-2Z C3 | 6206-2Z C3 3DP 32-200/3.0 6206-2Z C3 6206-2Z C3
3DS 32-200/4.0 6306-2Z C3 | 6306-2Z C3 3DP 32-200/4.0 6308-2RS1 6306-2RS1 6306-2Z C3 6306-2Z C3
3DS 32-200/7.5 6208-2Z C3 | 6208-2Z C3 3DP 32-200/7.5 6208-2Z C3 6208-2Z C3
23: jglé;’;'g 6205-2Z C3 | 620522 C3 zgi jgﬁgﬁ;g 620527C3 | 620527 C3
: - : -2RS1 | 6206-2RS1
3DS 40-160/3.0 6206-2Z C3 | 6206-2Z C3 3DP 40-160/3.0 6306-2R 6206-2Z C3 6206-2Z C3
3DS 40-160/4.0 6306-2Z C3 | 6306-2Z C3 3DP 40-160/4.0 6306-2Z C3 6306-2Z C3
3DS40-20055 620827 C3 | 62082z C3|  |SDP40-2005.5 62082ZC3 | 6208-2ZC3
3DS 40-200/7.5 3DP 40-200/7.5 6308-2RS1 6306-2RS1
3DS 40-200/11 6309-2Z C3 | 6309-2ZC3 3DP 40-200/11 6309-2Z C3 6309-27 C3
3DS50-125/2.2 6205-2Z C3 | 6205-2ZC3 3DP50-125/2.2 6205-2Z C3 6205-2Z C3
3DS50-125/3.0 6206-2Z C3 | 6206-2Z C3 3DP 50-125/3.0 6306-2RS1 6206-2RS1 6206-2Z C3 6206-2Z C3
3DS50-125/4.0 6306-2Z C3 | 6306-2Z C3 3DP 50-125/4.0 6306-2Z C3 6306-2Z C3
3DS50-160/5.5 3DP50-160/5.5
3DS50-160/7.5 6208-2Z C3 | 6208-2ZC3 3DP50-160/7.5 6208-2Z C3 6208-2Z C3
3DS50-200/9.2 3DP 50-200/9.2 6308-2RS1 6306-2RS1
3DS50-20011 3DP50-200/11
6309-2Z C3 | 6309-2Z C3 6309-2Z C3 6309-27 C3
3DS50-200/15 3DP 50-200/15
3DS 65-125/4.0 6306-2Z C3 | 6306-2Z C3 3DP 65-125/4.0 6306-2Z C3 6306-2Z C3
3DS 65-125/5.5 3DP 65-125/5.5 6306-2RS1 6206-2RS1
3DS 65-125/7.5 3DP 65-125/7.5
6208-27 C3 | 62082Z C3 6208-2Z C3 6208-2Z C3
3DS 65-160/7.5 3DP 65-160/7.5
3DS 65-160/9.2 3DP 65-160/9.2
3DS65-160/11 3DP 65-160/11
3DS 65-160/15 3 6308-2RS1 6306-2RS1
6309-2Z C3 | 630922 C3 3DP 65-160115 63092ZC3 | 6309-2ZC3
3DS 65-200/15 3DP 65-200/15
3DS 65-200/18.5 3DP 65-200/18.5
3DS 65-200/22 6311 C3 6311 C3 [1) [3DP65-200/22 6311 C3 6311 C3
1) Motor available with lubrificator for regular re-greasing of bearing.

B Eaana

EBARA PUMPS EUROPE S.p.A.

1)



CENTRIFUGAL PUMPS 3D SERI ES

CONSTRUCTION S50Hz

Rev. F

3DS COUPLING

L
b Set screw UNI EN ISO 4029

o | s i —

40-160/4.0 4 5.5 112 19 22 28 M16x1.5 | 122 | 63 8 31.3 M8x8
40-200/5.5 5.5 7.5 132 19 22 38 M16x1.5 | 145 | 84 10 | 413 M8x8
40-200/7.5 7.5 10 132 19 22 38 58 M16x1.5 | 145 | 84 10 | 413 M8x8

Pump type Power Motor Dimensions [ mm ]

[KW]| [HP]| Size d dl | d2 | d3 M L L1 b h Set screw
32-125/1.1 1.1 15 80 19 | 22 | 19 | 33 | Mi6x15 | 98 | 43 6 21.8 M6x6
32-160/1.5 15 2 90 19 | 22 | 24 | 39 | M16x1.5 | 110 | 53 8 27.3 M8x8
32-160/2.2 2.2 3 90 19 | 22 | 24 | 39 | Miex15 | 110 | 53 8 27.3 M8x8
32-200/3.0 3 4 100 | 19 | 22 | 28 | 43 | M16x15 | 122 | 63 8 313 M8x8
32-200/4.0 4 5.5 112 | 19 | 22 | 28 | 43 | M16x15 | 122 | 63 8 31.3 M8x8
32-200/7.5 7.5 10 132 | 19 | 22 | 38 | 58 | M16x15 | 145 | 84 | 10 | 413 M8x8
40-125/1.5 15 2 90 19 | 22 | 24 | 39 | M16x1.5 | 110 | 53 8 27.3 M8x8
40-125/2.2 2.2 3 90 19 | 22 | 24 | 39 | Miexl5 | 110 | 53 8 27.3 M8x8
40-160/3.0 3 4 100 | 19 | 22 | 28 | 43 | M16x15 | 122 | 63 8 313 M8x8

43
58

40-200/11 11 15 160 19 22 42 63 M16x1.5 | 178 | 114 | 12 | 453 M8x8
50-125/2.2 2.2 3 90 19 22 24 39 M16x1.5 | 110 | 53 8 27.3 M8x8
50-125/3.0 3 4 100 19 22 28 43 M16x1.5 | 122 | 63 8 31.3 M8x8
50-125/4.0 4 55 112 19 22 28 43 M16x1.5 | 122 | 63 8 313 M8x8

50-160/5.5 55 7.5 132 19 22 38 58 M16x1.5 | 145 | 84 10 | 413 M8x8
50-160/7.5 7.5 10 132 19 22 38 58 M16x1.5 | 145 | 84 10 | 413 M8x8
50-200/9.2 9.2 125 | 132 19 22 38 58 M16x1.5 | 145 | 84 10 | 413 M8x8

50-200/11 11 15 160 19 22 42 63 M16x1.5 | 178 | 114 | 12 | 453 M8x8
50-200/15 15 20 160 22 22 42 63 M18x1.5 | 209 | 114 | 12 | 453 M8x8
65-125/4.0 4 55 112 19 22 28 | 43 M16x1.5 | 122 | 63 8 313 M8x8

65-125/5.5 5.5 7.5 132 19 22 38 58 M16x1.5 | 145 | 84 10 | 413 M8x8
65-125/7.5 7.5 10 132 19 22 38 58 M16x1.5 | 145 | 84 10 | 413 M8x8
65-160/7.5 7.5 10 132 19 22 38 58 M16x1.5 | 145 | 84 10 | 413 M8x8
65-160/9.2 9.2 125 | 132 19 22 38 58 M16x1.5 | 145 | 84 10 | 413 M8x8

65-160/11 11 15 160 19 22 42 63 M16x1.5 | 178 | 114 | 12 | 453 M8x8
65-160/15 15 20 160 24 30 42 63 M20x1.5 | 184 | 114 | 12 | 453 M8x8
65-200/15 15 20 160 24 30 42 63 M20x1.5 | 184 | 114 | 12 | 453 M8x8
65-200/185 [ 185 25 160 24 30 42 63 M20x1.5 | 184 | 114 | 12 | 453 M8x8
65-200/22 22 30 180 24 30 48 72 M20x1.5 | 184 | 114 | 14 | 51.8 M10x10

313

5 E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3D SERI ES

CONSTRUCTION S50Hz

Rev. F

3DP FLEXIBLE COUPLING

PUMP SIDE PUMP SIDE MOTOR SIDE MOTOR SIDE
Pump type Power Motor Dimensions [ mm ]

[KW]| [HP]| Size | d1 | b1 | h1 | d2 | b2 | h2
32-125/1.1 1.1 15 80 24 27.3 19 6 21.8
32-160/1.5 15 2 90 24 27.3 24 8 27.3
32-160/2.2 2.2 3 90 24 27.3 24 8 27.3
32-200/3.0 3 4 100 24 27.3 28 8 313
32-200/4.0 4 55 112 24 27.3 28 8 313
32-200/7.5 7.5 10 132 24 27.3 38 10 41.3
40-125/1.5 15 2 90 24 27.3 24 8 27.3
40-125/2.2 2.2 3 90 24 27.3 24 8 27.3
40-160/3.0 3 4 100 24 27.3 28 8 313
40-160/4.0 4 55 112 24 27.3 28 8 313

40-200/5.5 55 7.5 132 24
40-200/7.5 7.5 10 132 24

27.3 38 10 41.3
27.3 38 10 41.3

40-200/11 11 15 160 24 27.3 42 12 45.3
50-125/2.2 2.2 3 90 24 27.3 24 8 27.3
50-125/3.0 3 4 100 24 27.3 28 8 31.3
50-125/4.0 4 55 112 24 27.3 28 8 31.3

50-160/5.5 55 7.5 132 24
50-160/7.5 7.5 10 132 24
50-200/9.2 9.2 125 | 132 24

27.3 38 10 41.3
27.3 38 10 41.3
27.3 38 10 41.3

50-200/11 11 15 160 24 27.3 42 12 45.3
50-200/15 15 20 160 24 27.3 42 12 45.3
65-125/4.0 4 55 112 24 27.3 28 8 31.3

65-125/5.5 55 7.5 132 24
65-160/7.5 7.5 10 132 24
65-160/9.2 9.2 125 | 132 24

27.3 38 10 41.3
27.3 38 10 41.3
27.3 38 10 41.3

00 |00 |00 |00 |00 |00 |00 |CO |00 |00 00|00 |00 00|00 |00 |00|00 |00 00|00 |00 |00|00 |00 |00 |00|C0 |00 |00

65-160/11 11 15 160 24 27.3 42 12 45.3
65-160/15 15 20 160 24 27.3 42 12 45.3
65-200/15 15 20 160 24 27.3 42 12 45.3
65-200/18.5 185 25 160 24 27.3 42 12 45.3
65-200/22 22 30 180 24 27.3 48 14 51.8

314

5 E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3D SERIES

CONSTRUCTION 50Hz
Rev. F
FITTINGS
COUNTERFLANGES GALVANIZED STEEL
F
E
| — |
- [ |
=R = 1 —
A o
I L 1
SN N° Holes 218
Dimensions Screws
DN D E F H H1 L M SN DIMENSION MATERIAL
32 G1¥% | 100 140 15 11.5 67 50 4
1
40 Gl 110 150 17.5 11.5 72 58 4 Gv. Steel 8.8
50 G2 125 165 19 15 89 70 4 M16x55 Strenght class
ISO 898-1
65 G2 145 185 23 14 104 88 4
80 G3 160 200 24 14.5 1175 100 4
GASKETS
DN M M1
32 38 82
40 50 93
50 60 107
65 80 125
80 90 140
Thickness 2
Material: EPDM for standard version
FPM for hot water version
315

B Eaana

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3D SERIES

DIMENSIONS AND WEIGHT

S50Hz

S2

PUMP 3D

I

)

80 MAX,

UP TO 11 kW

Rev. F

Only for model 65

-]
Dimensions [ mm ] Weight
[kgf]
Model o|o|o|o 2|o|o|e H3 B c vi v2

] ©) ) *) *) )

DNL| PL| KL | DL|SLIDN2| P2| K2 |D2|S2| H | HL|H2 (] )] ph | RIW| M| NLIN2| T E| A | AL A2 e I [1-] (3] 131 €8] 4 [ (3] g | 8] e )

32-125/1.1 (M) 50 | 102[125(165| 20 | 32 | 78 | 100 140| 18 | 252 | 112|140 141 | 124 | 119 | 80 | 70| 100| 140| 190| 50 | 10| 213 | 106.5| 1065 | 408 | 407 | 431 | 219+230 | 219:230 | 232 - M20x1.5 | PG 135 | M16x1.5| 25 | 205 | 205
32-160/1.5 (M) 50 | 102{125(165| 20 | 32 | 78 | 100 140| 18 | 292|132 | 160 141 | 124 | 119 | 80 | 70| 100| 190| 240| 50 | 10| 254 | 127 | 127 | 408|407 431| 219230 | 219:230 | 232 - M20x15 | PG135 | M20x15| 20 | 335 | 335
32-160/2.2 (M) 50 | 102{125{165| 20 | 32 | 78 | 100 140| 18 | 292|132 | 160 141 | 124 | 119 | 80 | 70| 100| 190| 240| 50 | 10| 254 | 127 | 127 | 408|432 431| 219:230 | 244255 | 232 - M20x15 | PG135 | M20x15 | 357 | 36 36
32-200/3.0 50 | 102]125(165| 20 | 32 | 78 | 100 | 140| 18 | 340 | 160|180| - | 124 | 124 | 80 | 70|100| 190|240 | 50 10| 296 | 148 | 148 471 471 - 244:255 | 244:255 - PG 135 | M20x1.5 475 | 475
32-200/4.0 50 | 102]125(165| 20 | 32 | 78 | 100|140| 18 | 340|160 | 180| - | 141 | 141 | 80 | 70|100| 190|240 50 | 10| 296 | 148 | 148 494 | 494 - 253 253 - PG 16 | M20x15 50 50
32-200/7.5 50 | 102]125|165| 20 | 32 | 78 | 100 140| 18 | 340| 160|180| - | 150 | 150 | 80 | 70| 100| 190 240| 50 | 10| 296 | 148 | 148 539 - 275 275 PG 135 - PG16 | - 65.1
40-125/1.5 (M) 65 [122]145[185] 20 | 40 | 88 | 110 150| 18 | 252 [ 112 140 141 | 124 | 119 | 80 [ 70| 100| 160| 210| 50 [ 10| 220 | 108 | 112 | 408 407|431 | 219230 | 219:230 | 232 - M20x15 | PG13.5 | M20x15| 255 | 30 30
40-125/2.2 (M) 65 | 122]145|185| 20 | 40 | 88 | 110|150| 18 | 252 | 112|140 141 | 124 | 119 | 80 | 70| 100| 160| 210| 50 | 10| 220 | 108 | 112 | 408|432 431 | 219-230 | 244:255 | 232 - M20x1.5 | PG 135 | M20x1.5| 317 | 32 32
40-160/3.0 65 | 122]145(185| 20 | 40 | 88 | 110|150| 18 | 292132 | 160| - | 124 | 124 | 80 | 70|100| 190 | 240| 50 | 12| 254 | 127 | 127 471 471 - 244+255 | 244255 - PG 135 | M20x1.5 39 39
40-160/4.0 65 | 122]145(185| 20 | 40 | 88 | 110 150| 18 | 292 132| 160| - | 141 | 141 | 80| 70|100| 190| 240| 50 | 12| 254 | 127 | 127 494 | 494 - 253 253 - - PG 16 | M20x15 48 | 48
40-200/5.5 65 | 122]145(185| 20 | 40 | 88 | 110|150| 18 | 340|160 | 180| - | 150 | 150 | 100| 70| 100| 212 | 265| 50 | 12| 296 | 148 | 148 539 | 539 - 275 275 | PG135| M20x15 PG16 | M25x1.5 60 60
40-2007.5 65 | 122]145(185| 20 | 40 | 88 | 110|150| 18 | 340|160 | 180| - | 150 | 150 | 100| 70| 100| 212 | 265| 50 | 12| 296 | 148 | 148 559 - 215 275 PG 135 PG 16 66.1
40-200111 65 | 122]145|185| 20 | 40 | 88 | 110 150| 18 | 340| 160|180| - | 178 | 178 | 100| 70| 100| 212 | 265| 50 | 12| 296 | 148 | 148 595 - 359 359 PG 135 - - PG21 824
50-125/2.2 (M) 65 [ 122]145[185] 20 | 50 |102] 125]165] 20 | 292|132 | 160 141 | 124 | 119 [ 100[ 70| 100| 190| 240| 50 | 10| 254 | 127 | 127 | 428 452 451| 219+230 | 244255 | 232 - M20x1.5 | PG 135 | M20x1.5 | 344 | 37 37
50-125/3.0 65 | 122]145|185| 20 | 50 | 102|125 165| 20 | 292|132 | 160| - | 124 | 124 | 100| 70| 100| 190 | 240| 50 | 10| 254 | 127 | 127 491 | 491 - 244:255 | 244:255 - PG 135 | M20x1.5 395 | 395
50-125/4.0 65 | 122]145(185| 20 | 50 | 102|125 165| 20 | 292|132 | 160| - | 141 | 141 |100|70|100| 190 240| 50 | 10| 254 | 127 | 127 514|514 - 253 253 - - PG16 | M20x1.5 48 | 48
50-160/5.5 65 | 122]145]185| 20 | 50 | 102|125 165| 20 | 340|160 | 180| - | 150 | 150 | 100| 70| 100| 212 | 265| 50 | 10| 296 | 148 | 148 539 | 539 - 275 275 | PG135] M20x15 PG16 | M25x1.5 60 60
50-160/7.5 65 | 122]145(185| 20 | 50 | 102|125 165| 20 | 340| 160| 180| - | 150 | 150 [ 100| 70| 100| 212| 265| 50 | 10| 296 | 148 | 148 559 - 275 275 - PG 135 - PG 16 67.1
50-200/9.2 65 | 122]145]185| 20 | 50 | 102|125 165| 20 | 360 | 160|200| - | 178 | 178 | 100| 70| 100| 212 | 265| 50 | 10| 296 | 148 | 148 595 - 359 359 PG 135 PG21 77
50-200/11 65 | 122]145]185| 20 | 50 | 102|125 165| 20 | 360 | 160|200| - | 178 | 178 | 100| 70| 100| 212 | 265| 50 | 10| 296 | 148 | 148 595 - 359 359 PG 135 - PG21 824
65-125/4.0 80 [ 138]160[200| 22 | 65 | 122|145 185] 20 | 340 160| 180[ - | 141 | 141 [100[95[125] 212 280| 65 [12] 263 | 127 | 136 514|514 - 253 253 - - PG 16 | M20xL.5 53 53
65-125/5,5 80 [ 138]160[200| 22 | 65 |122] 145]185] 20 | 340[ 160| 180| - | 150 | 150 [ 100[ 95]125] 212] 280] 65 [12] 263 | 127 | 136 539 | 539 - 275 275 | PG 135 | M20x1.5 PG 16 | M25x1.5 65 65
65-125/7,5 80 [ 138]160[200| 22 | 65 |122] 145 185] 20 | 340[ 160| 180| - | 150 | 150 [ 100[ 95]125] 212] 280] 65 [12] 263 | 127 | 136 559 - 275 275 PG 135 PG 16 72.6
65-160/7.5 80 [ 138]160[200| 22 | 65 |122] 145]185] 20 | 360 160|200 - | 150 | 150 [ 100[ 95]125] 212 280| 65 | 12| 296 | 148 | 148 559 - 275 275 PG 135 PG 16 73.1
65-160/9,2 80 [ 138]160[200| 22 | 65 |122] 145]185] 20 | 360 160|200 - | 178 | 178 [100[ 95]125] 212 280| 65 | 12| 296 | 148 | 148 595 - 359 359 PG 135 PG 21 85
65-160/11 80 |138]160]200] 22 | 65 [122] 145[185] 20 [ 360160 200] - | 178 | 178 [100] 95[125] 212] 280 65 [12] 296 | 148 | 148 595 - 359 359 PG 135 PG21 87.4

(*) Only for IE3 Motors

400

E2ARA

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3D SERI ES

DIMENSIONS AND WEIGHT S50Hz

Rev. F

PUMP 3D

15 kW AND ABOVE

Only for model 65

S
L4 p
H-— +
Dimensions [ mm | .
Model o|o| 2| @ | 2|2 |0o v}lilggfq‘
DN1| P1 | K1 | D1|S1|{DN2| P2 | K2| D2|S2| H | HL| H2| H3 |Fig.] R |W|[ M |NL|N2| T|E| A Al A2 B C L | L1 L2|L3| L4 D F|s| v1 V2
50-200/15 65 | 122 145]185| 20| 50 | 102 125| 165 | 20 | 360 | 160 | 200 | 223| 2 | 100 | 70| 100| 212|265 | 50 | 10| 296 | 154.5 | 141.5 | 723| 190.5 | 254 | 254 | 318 64| 304| - - | - |PG21|PG21| 124.1
65-160/15 80 | 138 160|200 | 22| 65 | 122| 145|185 | 20 | 360 | 160 | 200 | 223| 2 | 100 | 95| 125| 212|280 | 65 | 12| 296 | 154.5 | 141.5 | 732| 199.5 | 254 | 254 | 318 64| 304| - - | - |PG21|PG21| 129.1
65-200/15 80 | 138|160 | 200 | 22| 65 | 122| 145|185 | 20 | 405 | 180| 225| 223| 1 | 100| 95| 125| 250|320 | 65 | 12| 312| 154.5 | 157.5 | 732| - - | 254|314 | 60| 345| 4995 | 20| 20| PG 21| PG 21| 129.1
65-200/18.5 | 80 | 138| 160|200 | 22| 65 | 122|145 185| 20 | 405 180 | 225| 223 | 1 | 100| 95| 125| 250 | 320 | 65 | 12| 312| 154.5 | 1575 [ 732| - - | 254 314| 60| 345| 499.5 | 20| 20 | PG 21| PG 21| 146.3
65-200/22 80 | 138 160| 200 | 22 | 65 | 122 145| 185 | 20 | 405 | 180| 225 223| 1 | 100 | 95| 125| 250 | 320 | 65 | 12| 312| 154.5 | 157.5 | 732| - - | 254 314| 60| 345| 499.5 | 20| 20 | PG 21| PG 21| 158.1

401

E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3D SERIES

DIMENSIONS AND WEIGHT

S50Hz

Rev. F
PUMP 3DS 32, 40, 50
B
D2
P2
PN2 V1 V2 A
o~
n 4-¢18
|
[ms 1 a 1]
20
2 O
1 N
i i T
T bl
— ~| = T
=
ol a5 AI0000
E— 00000
I 3 —
o | &l 1
R ‘ C 115
‘ =
15 70 | 2-s10
M i
o O
3| ©
Dimensions [ mm ] Weight
Model gl ol ol olololol|l o [kaf]
DN1| P1| K1 | D1 |DN2| P2 | K2 |D2|g2| H|HL|H2|H3| R|M|NL|N2| T|A|B]| C Vi V2 *)
32-125/1.1 | 50 | 102 | 125| 165| 32 | 78 | 100 | 140| 18 | 252 | 112|140 | 139 | 80 | 100 | 140 | 190 | 50 | 213|430 | 174 | M25x1.5 | M20x1.5| 30.5 | 32.1
32-160/1.5 | 50 | 102 | 125|165| 32 | 75 | 100|140 | 18 | 292|132 | 160 | 148| 80 | 100 | 190 | 240 | 50 | 254 | 477 | 186 | M25x1.5 | M20x1.5| 36.3 | 36.3
32-160/2.2 | 50 [ 102 | 125|165| 32 | 75 | 100|140 | 18 | 292|132 | 160 | 148| 80 | 100 | 190 | 240 | 50 | 254 | 477 | 186 | M25x1.5 | M20x1.5| 40.4 | 40.4
40-125/1.5 | 65 | 115| 145| 185| 40 | 80 | 110| 150| 14 | 252| 112| 140 | 148| 80 | 114 | 160| 210| 50 | 213| 477 | 186 | M25x1.5 | M20x1.5| 31.9 | 31.9
40-125/2.2 | 65 | 115| 145| 185| 40 | 80 | 110| 150| 14 | 252| 112 | 140| 148| 80 | 114 | 160| 210| 50 | 213 | 477 | 186 | M25x1.5 | M20x1.5| 355 | 355
50-125/2.2 | 65 | 115| 145|185 | 50 | 95 | 125 | 165| 16 | 292 | 132 | 160 | 148 | 100 | 114 | 190 | 240 | 50 | 254 | 497 | 186 | M25x1.5 | M20x1.5| 37.9 | 37.9

(*) Only for IE3 Motors

402

B Eaana

EBARA PUMPS EUROPE S.p.A.




3D SERIES

CENTRIFUGAL PUMPS

S50Hz

DIMENSIONS AND WEIGHT

Rev. F

PUMP 3DS 32, 65

SI010W €31 104 AUO ()

¥'G9 | ¥'G9 | 8¢ | 8¢ |06T| 2T | 0.5| 08T | S9 | 082 |2T2|SeT| S6 [00T|TLT|08T|09T|OvE| 02 |S8T|SPT|22T| S9 22| 002 |09T|8ET| 08 | O'¥/SCT-S9
809 | 8'09 | 8¢ | 8¢z|06T| 2Tz | 0SS | 962 0S | 0¥z |o6T|00T| 0L | 08 |TLT|08T|09T|OFE| 8T |OvT{00T| 82| 2€ | 02| S9T|SCT|20T| 0S | O°'¥/00Z-2E
€'65 | €'65| ¢~ | 202]|09T| soz | 82S| 962 0S | 0¥z |06T|00T| 0L | 08 |SST|08T|09T| OFE| 8T |OvT{00T| 82| 2€ | 02| S9T|SCT|20T| 0S | 0°€/002-2€
(+) €11 |11 O d V] L]|ZN]JIN|]W| M| d]|EH|CH]|TH| H |2ZS|2d|aM|<cd|<NQ|TS| TA | TM| Td |TINA
[16%] o|o|lo|o| |o|o|e|a| weron
biam [ ww ] suoisuswiq
¢Nd
1 1
I 1
7 g8l 7
X 4 &
Lg—¥
N
M Gl
J d

G9 [epoW Jo} \ﬁCO

(O
SIXoTh
G IXGZ

¢Nd
id

[4¢

¢S

403

EBARA PUMPS EUROPE S.p.A.

B Eaana



3D SERIES

CENTRIFUGAL PUMPS

S50Hz

DIMENSIONS AND WEIGHT

Rev. F

PUMP 3DS 40, 50, 65

6'2vT |958[908| €2T| 002 | 09T | 20 [0Z | G8T |SYT|STT| S9 |22 |002|09T|8ET| 08 | GT/09T-S9
8'90T | 978908 |€2T |00 | 09T |20t |02 |S8T|SPT|STT| S9 |22 |002|09T|8ET| 08 TT/09T-S9
6'99T | €€8[962|0TT|00Z | 09T |20t (02 |G9T|SCT|20T| 0S |02 |S8T|S¥T|2eT| 9 | GT/002-0S
8'0ET | €€8[962|0TT|00Z | 09T |20t (02 |G9T|SCT|20T| 0S |02 |S8T|S¥T|2eT| S9 | TT/002-0S
8'0E€T | €€8)96L|0TT|08T| 09T [28S|8T |0ST|0TT| 88 | O¥ |0z |S8T|SPT|2eT| S9 TT/002-0%
419 [M|ZH|TH| H |ZS|2d|2X|<dd |ZNA|TS|TA | T | Td |INA
«F%M&/ |09 ]| 9 |2 |92 [Elelel’)
[ ww ] suoisuawig
E]
14 12°669 14

G9 [opow Joj AjuQ

0S¢

8¢¢C

iiloXell

GIXOYIN

La

404

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3D SERIES

DIMENSIONS AND WEIGHT

S50Hz

PUMP 3DS 32, 40, 50, 65

Only for model 65

< (}?// ?%; =z
N7y S Hk
=7 g <
\ o
— Iz
< E o)
I i f\ﬁ
~ A
¢H ‘ ¥H 11 - ¢
L o
T Tfi o~
o N GL
2
g ’l 1 ©
—
4 &
T ‘V\
o) -
@ s = o Cryed 9 Lt =
== ~
Xm m[ i o
[ r r | I Y
‘ ) = ( ‘ EW m
] WM e L ] »
[ | ]
|l il i
8 & 3 — 11 5 = = =
# s = i
’_Lg% -
[Te) w
A L] = ol® §
s s NG o
L
Id
1a

8Y¢

6L¢

300

Rev. F

405

EBARA PUMPS EUROPE S.p.A.



3D SERIES

CENTRIFUGAL PUMPS

S50Hz

DIMENSIONS AND WEIGHT

Rev. F

SI0J0 €31 10} AlUO (x)

16T - STXOYW | STXOPN | - | - S| - || - |S88|¢cTE| 99 | 0CE|0SC| - | - |00T| - |89¢C|Gcc | 08T | SOV | ¢ |0C|S8T | SPT | <l | 99 |<C|00C|09T|8ET | 08 | ¢¢/00C-S9
G'8ST - STXOYW | STXOVIN |09| ¥I€ | ¥SC | ¥T| OGE |0C| T29 | 0S8 | ZT€ | G9 | 0C€ | 0SC | S¢T |S6| 00T | 0C|8€C | GZC | 08T [SO¥ | T |0C|S8T | SPT | 22T | 99 |22 |002|09T| 8ET | 08 |S'8T/002-G9
6'9GT - STXOYW | S'TXOVIN |09 ¥I€ | ¥SC | ¥T| 0SE |0C| TC9 | 908 | ¢TE€ | G9 | 0CE | 0S¢ | G¢T |S6| 00T | OC| 8€C | G¢¢ | 08T | SOV | T |0C| G8T | SPT | ¢CT | S9 |<C|00C|09T| 8ET | 08 | ST/002-S9
80T - S TXCEW | G'TXCEN |0S|99¢ | 9T¢ |¢T| 0LZ |ST| 6.F | 069 | 96¢ | S9 | 08¢ | ¢T¢ | ST |S6| 00T | 8¢| 86T | 00C | 09T | 09€ | T |0Z| S8BT | SPT | ¢CT | S9 |<C|00Z|09T| 8ET | 08 | ¢'6/09T-S9
2’66 - G TXCEW | GTXCEW |0S| 992 | 9TC |2T| 0L |ST| 6.F | 0G9 | 962 | G9 | 08C | ¢TZ | GZT |S6| 00T | 82| 86T | 00C | 09T | 09€ | T |0Z| S8BT | SPT | ¢¢T | S9 |22 |00C|09T| 8ET | 08 | G°L/09T-S9
6'66 - S TXCEW | G'TXCEN |0S|99¢ | 9T¢ |¢T| 0LC |ST| 6.F | 0S9 | €9¢ | G9 | 08¢ | ¢T¢ | T |S6| 00T | 8¢| 86T | 08T | 09T |Ov¥E | T |0C| S8BT | SPT | ¢CT | S9 |<C|00Z|09T| 8ET | 08 | G'L/SCT-S9
€9/ | €9, |[GTIXCEW | STXCEW |0G|99¢ | 9TC |2T| 02 |ST| 6.1 | 09 | €92 | S9 | 08 | ¢TC | SCT |S6| 00T |82 | 86T | 08T | 09T |OVE | T |0C| S8T | ST | 22T | G9 |2Z|00Z|09T| 8€ET | 08 | G'S/SCT-S9
0T - S TXCEW | G'TXCEN |0S|99¢ | 9T¢ |¢T| 0LZ |ST| 6.F | 069 | 96¢ | 0S | S9¢ | ¢T¢ | 00T |0Z| 00T | 8¢| 86T | 00C | 09T | 09€ | T |0Z| S9T | SCT | ¢OT | OS |OC|S8T|SPT| ¢CT | S9 | ¢'6/002-0S
G'66 - G TXCEW | GTXCEW |0S| 992 | 9TC |2T| 0L |ST| 6.F | 0G9 | 962 | 0S | S9¢ | ¢TZ | 00T |0Z| 00T | 82| 86T | 08T | 09T |O¥E | T |0Z| S9T | G2T | ¢OT | OG |0C|S8T|SVT| 2¢T | 99 | G'L/09T-0S
€LL | €LL | STXCEW | STXCEW |0G|99¢ | 9T¢C |¢T| 042 |ST|6L¥ | 0€9 | 96¢ | 0S | S9¢ | ¢TC | 00T |OL| 00T |8Z| 86T | 08T | 09T |OVE | T |0C| S9T | G¢T | COT | 0S | 0C|S8T|SPT| 22T | §9 | G'S/09T-0S
L2S| L'2S | GTXO0ZN | S TXSCN |0S| OvC | 06T |2T| 02¢C |ST| S6€ | 0LS | ¥SC | 0S | O¥Z | 06T | 00T |0Z| OOT |0 | TLT | 09T | €T (262 | T |0C| S9T | GZT | 20T | 0S |0Z|S8T|SYT| 22T | S9 | 0'V/SCT-0S
Ty | Twr [ STXOCW | S TXSCN |OF| 00C | 09T |CT| 02¢ |ST|88€E | 875 | ¥SC | 0S | O¥C | 06T | 00T |0L| OOT | ¢€| GST | 09T | ¢€T | ¢6C | T |0C| S9T | G¢T | 20T | 0S |0cC|S8T|SvT| ¢cT | G9 [ 0°€/SCT-0S
8'88 - G TXCEW | GTXCEW |0S| 992 | 9TC |2T| 0L |ST| 6.F | 0G9 | 962 | 0S | S9¢ | ¢TZ | 00T |0Z| 00T | 82| 86T | 08T | 09T |O¥E | T |8T|OST|OTT | 88 | OV |0C|S8T|SVT|2CT | S9 | §'L/00Z-OF
L'6L| L'6L |[STXCEW | STXCEW |0G|99¢ | 9T¢ |¢T| 0L¢ |ST| 6L | 09 | 96¢ | 0S | G9¢ | ¢T¢ | 00T |0L| OOT | 8¢ | 86T | 08T | 09T |OVE | T |8T| OST | OTT| 88 | OF |0C|S8T|S¥T| ¢cT | G9 | G'S/00C-0F
8'TG| 8TS | S TXOZW | STXSZWN | 0S| OFZ | 06T |2T| 02C |ST| S6€ | 0SS | ¥S2 | 0S | O¥C | 06T | 00T |OZ| 08 |0Z| TLT | 09T | 2€T | 262 | T |8T|0ST |OTT| 88 | OV |0C|S8T|SPT| 22T | S9 | 0'¥/09T-0F
9'G9 | 9'G9 | G'TXOCN | S'TXSCN | 0| 00C | 09T |¢T| 0ZC |ST|88€ | 82S | ¥SC | 0S | OC | 06T | 00T |OL| 08 | €| GST | 09T | ¢€T | 2¢6C| T |8T|0ST |OTT | 88 | OV |0C|S8T|SPT| 22T | §9 | 0°€/09T-0F
6 - S TXCEW | G'TXCEN |0S|99¢ | 9T¢ |¢T| 0LC |ST| 6.¥ | L09 | 96¢ | OS | O¥C | 06T | OOT |OL| 08 |8¢| 86T | 08T | 09T |O¥E | T |8T | OVT| 00T | 8L | ¢€ |0C|S9T|SCT| ¢OT | OS | §°L/00C-¢€
() [2AN N €l e¢1| 1|0l 94| 0 d V | L |eN|IN| W |[M| o |vH €H |2H | TH| H [Bid|gS| 2d | 20 | 2¢d |2NA|TS|TA | TM | Td |ING

L6 1uBlom 2| 2|90 |0 2| 0| 2|0 19PON

[ ww ] suoisuawig

406

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3D SERI ES

DIMENSIONS AND WEIGHT S50Hz

Rev. F

PUMP 3DP 32, 40, 50, 65

Only for model 65

=
N !
> [
:"i
5 o
s
—~ |
(D i < N
| ™
~
= 0
>~
\\i
~ S Yo
N
U
N O W
M D ©
m — S~
<} S
L L
Wl -
EalE o
j j -
S O
_ 9 &)
%)
~
o
| o
= -
ol al &f T
=== IR
T ]
o -~
n

¢S

407

5 E2ARA EBARA PUMPS EUROPE S.p.A.



3D SERIES

CENTRIFUGAL PUMPS

S50Hz

DIMENSIONS AND WEIGHT

Rev. F

s1010 €31 103 AluO (x)

T1T¢ - S TXOVIN|S"TX0PIN|000T|09€| 0S| 0T| 008|00T|069|0STT|ZTE|00T|89¢2|52C|08T|SSY| 0C |S8T|SYT|CCT| S9 | <Z|00C|09T|8ET| 08 2¢/002-99
C'9ST - S TXOVIN| S TXOVIN|000T|0EE| 0Z7| 08E|008| 00T |7S9|STTT|ZTE|00T|8EC|S2C|08T|SSY| 0C|S8T|SYT|¢CT| S9 | ZC|00Z|09T|8ET| 08 G'8T/00¢-59
9GT - S TXOVIN| S TX0VIN|000T|0EE| 0Z7| 08€|008|00T|0T9| TLOT|ZTE|00T|8EC|SCC|08T|SSY| 0C|S8T|SYT|¢CT| S9 | ZC|00Z|09T|8ET| 08 GT/00¢-99
16T - S TXOVIN|S"TX0PIN|000T|0EE| 0C7| 08€| 008|00T|0T9|TLOT|96<|00T|8EC|00C|09T|SSY| 0C |S8T|S¥T|CCT| S9 | <Z|00C|09T|8ET| 08 GT/09T-59
R4 - S TXOVIN|S"TX0PIN|000T|0€E| 0C7| 08€| 008|00T|0T9|TLOT|96<|00T|8EC|00C|09T|0T¥| 0C |S8T|S¥T|CCT| S9 | <Z|00C|09T|8ET| 08 TT/09T-99
8€T - G TXCEN| S TXZEIN| 0S8 |00€|06€|0S€|0S9|00T|Z817| 896 |96<|00T|86T|00Z|09T|0TY| 0C |S8T|S¥T|CCT| S9 | <Z|00C|09T|8ET| 08 Z'6/09T-S9
C'EeeT - G TXZEW| S TXZEN| 0598 |00€|06€| 0SE|0S9|00T | 21| 8¢6 |96¢|00T|86T|00Z|09T|0T| 0C|S8T|SYT|CCT| S9 | ZC|00Z|09T|8ET| 08 G'//09T-59
6°6CT - G TXZEW| S TXZEIN| 0598 |00€|06€| 0SE|0S9|00T || 826 |€9¢|00T|86T|08T|09T|06€| 0 |S8T|SYT|CCT| S9 | ZC|00Z|09T|8ET| 08 G'//S¢T-S9
€'GTT | €'GTT |STXZEN|S TXCEN| 0S8 |00€| 06€|0SE|0S9|00T| 7| 806 |€92|00T|86T|08T|09T|06€| 0C|S8T|SVT|CCT| 99 | ZZ|00Z|09T|8ET| 08 G'G/SCT-S9
6°0L 6°0L |STXOCIN|S'TXGZIN| 0SZ |00€|06€|0SE|06S| 08 [88E| TS8 [€9C|00T|TLT|08T|09T|06€| 0C|S8T|SVT|CCT| S9 |<Z|00Z|09T|8ET| 08 0'7/SCT-99
Az - S TXOVIN|S"TX0PIN|000T|0€E| 0Z7| 08€| 008|00T|0T9|TLOT|96<|00T|8EC|00Z|09T|0T¥| 0C |S9T|SCT|C0T| 0S | 0C|S8T|SPT|CCT| S9 GT/002-0S
a4’ - G TXCEN|S TX0VIN|000T|0EE| 0C7| 08€| 008|00T|0T9|TLOT|96<|00T|8EZ|00C|09T|0T¥| 0C |S9T|SCT|C0T| 0S | 0C|S8T|SPT|CCT| S9 TT/002-0S
R ZAN - G TXZEW| S TXZEIN| 0S8 |00€|06€| 0SE|0S9|00T|Z81| 896 |96¢|00T|86T|00Z|09T|0T¥| 0C|S9T|SCT|C0T| 0S | 0C|S8T|SPT|cCT| S9 2'6/002-0S
asin - G TXZEW| S TXZEIN| 0S8 |00€|06€| 0SE|0S9|00T || 826 |96¢|00T|86T|08T|09T|06€| 0C|S9T|SCT|C0T| 0S | 0C|S8T|SPT|cCT| S9 G'//09T-09
STTT | S TTT |STXCEN|S TXZCEN| 0598 |00€|06€|0SE|0S9|00T || 806 |96¢| 00T|86T|08T|09T|06€| 0C|S9T|SCT|20T| 0S |0C|S8T|SvT|CCT| S9 G'G/09T-09
L'16 L'T6 |STXOCIN|S'TXSZIN| 0SZ |00€|06€|0SE|06S| 08 [88€| TS8 [17SC|00T|TLT|09T|CET| V€| 0C|S9T|SCT|C0T| 0S | 0C|S8T|SPT|CCT| S9 0'7/SCT-0S
T'16 T'16 |STXOCWN|S TXGZIN| 0SL |00€|06€|0SE|06S| 08 [99€| 68 |17SC|00T|SST|09T|CET| V€| 0C|S9T|SCT|C0T| 0S | 0C|S8T|SPT|CCT| S9 0'€/SCT-09
08 08 |S'TXOCN|S TXSGCIN| OTZ |00€|06E|0SE|0SS| 08 |LTE| 08L |¥7SC|00T|8VT|09T|CET|CVE| 0C|S9T|SGCT|¢0T| 0S | 0C|S8T|SPT|ccT| 99 2'¢/S¢T-0S
9'0vT - S TXOVIN| S TX0VIN|000T|0€E| 0C7| 08€|008|00T|0T9|TLOT|96¢|00T|8EC|08T|09T|06€| 8T |0ST|0TT| 88 | O | 0C|S8T|SVT|CCT| S9 T1T/00¢-0¥%
L'ETT - G TXZEW| S TXZEIN| 0S8 |00€|06€|0SE|0S9|00T || 826 |96¢|00T|86T|08T|09T|06€| 8T |0ST|0TT| 88 | O | 0C|S8T|SPT|CCT| S9 G'//00¢-01
S0T GOT |S'TXO0CIN|S TXCEN| 0S8 |00€|06€|0SE|0S9|00T || 806 [96<|00T|86T|08T|09T|06€| 8T |0ST|0TT| 88 | O | 0C|S8T|SPT|CCT| S9 G'G/002-01
8'vL 87, |STXOCIN|S TXGZIN| 0SL |00€|06€|0SE|06S| 08 [88€E| TEB [1SC| 08 |TLT|09T|CET| V€| 8T |0ST|0TT| 88 | O | 0C|S8T|SPT|CCT| S9 0'7/09T-01
¥'€6 7'€6 |G TX0CIN|S TXGZIN| 0SL |00€|06€|0SE|06S| 08 [99€| 608 [1SC| 08 |SST|09T|CET| V€| 8T |0ST|0TT| 88 | O | 0C|S8T|SPT|CCT| S9 0°€/09T-01
699 6°9S |G TXOCIN|S TXGZIN| OTZ |0S¢| 0| 00€|0SS| 08 |LTE| 09 |0¢¢| 08 [8YT|0OVT|ZTT|C0E| 8T |0ST|0TT| 88 | OF |0C|S8T|SVPT|CCT| S9 2'¢/set-ov
9L C'9/. |S'TXOCIN|S'TXGCIN| OTZ |0S¢|0E|00€|0SS| 08 |LTE| 092 |0¢¢| 08 [8YT|0OVT|ZTT|C0E| 8T |0ST|0TT| 88 | OF |0C|S8T|SVPT|CCT| S9 S'T/5¢T-01
LTT - G TXCEN|S TXZEIN| 0S8 |00€|06€|0S€|0S9|00T| 7| 806 |96<| 08 |86T|08T|09T|06€| 8T |0¥T|00T| 8L | ¢€ | 0C|S9T|SCT|C0T| 0S G'2/00¢-¢€
6'98 698 |STXOCIN|S TXGZIN| 0SZ |00€|06€|0SE|06S| 08 [88E| TEB [96¢| 08 |TLT|08T|09T|06€| 8T |0¥T|00T| 8L | ¢€ |0C|S9T|SCT|C0T| 0S 0'/00¢-¢€
6'€8 6'€8 |G TXOCIN|S'TXGZIN| 0SL |00€|06€|0SE|06S| 08 [99€| 608 [96¢| 08 |SST|08T|09T|06€| 8T |0¥T|00T| 8L | ¢€ |0C|S9T|SCT|C0T| 0S 0'€/00¢-¢€
519 G'T9 |G TXOCIN|S TXGCIN| 0S.L |00€|06€|0SE|06S| 08 |LTE| 091 |¥S¢C| 08 [8VT|09T|CET|cvE| 8T |OPT|00T| 8L | ¢€ |0C|S9T|SCT|C0T| 0S 2'¢/09T-¢€
G898 G'8G |G TXOCIN|S TXGCIN| 0S. |00€|06€|0SE|06S| 08 |LTE| 091 |¥S¢C| 08 [8VT|09T|CET|cvE| 8T |OVT|00T| 8L | ¢€ |0C|S9T|SCT|<C0T| 0S S'T/091-¢€
129 G'0S |S'TXOCIN|S TXGCIN| OTZ |0S¢|0E|00€|0SS| 08 |¢L¢| STL |E€T¢C| 08 [6E€T|0VT|ZTT|C0E| 8T |OPT|00T| 8L | € |0C|S9T|SCT|C0T| 0S T'1/9¢T-¢c€

(x) [4A\ A 1 |EN|ZN|IN| 3 (A |TQ| 4 V| d|EH|ZCH|TH| H |ZS|2A|2A|2d|ZNA|TS|TA| TH | Td|TINA

[465] g0 |0| @ g\ 0|29 |9PON
wbeMm [ ww ] suoisuswig

408

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3D SERIES

DIMENSIONS AND WEIGHT

S50Hz

PACKING 3D
Packing [ mm ] Weight [ kgf ] Pack
Pump type X Y z *) type
® | 1 [3-] [3-]
32-125/1.1 (M) | 250 | 300 | 450 | 450 | 30.4 315 315
32-160/1.5 (M) | 280 | 330| 430 | 460 | 30.7 35.5 35.5 1
32-160/2.2 (M) | 280 | 340 | 490 | 490 | 38.67 | 44.87 | 44.87
32-200/3.0 350 | 488 | 550 | 550 - 52.4 52.4
32-200/4.0 350 | 488 | 550 | 550 - 53.8 53.8 2
32-200/7.5 350 | 488 - | 700 - - 69.4
40-125/1.5 (M) | 250 | 300 | 450 | 450 | 29.9 39.12 | 39.12 1
40-125/2.2 (M) | 280 | 340 | 490 | 490 | 33.82 34 34
40-160/3.0 350 | 488 | 550 | 550 - 39.8 39.8
40-160/4.0 350 | 488 | 550 | 550 - 52.6 52.6
40-200/5.5 350 | 488 | 550 | 550 - 64.4 64.4 2
40-200/7.5 350 | 488 | - | 700 - 68.4 71.5
40-200/11 350 | 488 | - | 700 - 91 93.4
50-125/2.2 (M) | 280 | 340| 490 | 490| 36.1 39 39 1
50-125/3.0 350 | 488 | 550 | 550 - 40.1 40.1
50-125/4.0 350 | 488 | 550 | 550 - 52.6 52.6
50-160/5.5 350 | 488 | 550 | 550 - 64.2 64.2
50-160/7.5 350 | 488 | - | 700 - - 71.7
50-200/9.2 350 | 488| - | 700 - - 81.1
50-200/11 350 | 488 | - | 700 - - 87.4
50-200/15 390 | 532| - | 880 - - 133.1
65-125/4.0 350 | 488 | 550 | 550 - 57.9 57.9
65-125/5.5 350 | 488 | 550 | 550 - 70.8 70.8 2
65-125/7.5 350 | 488 | - | 700 - - 81.8
65-160/7.5 350 | 488 | - | 700 - - 77.9
65-160/9.2 350 | 488| - | 700 - - 93
65-160/11 350 | 488 | - | 700 - - 89.4
65-160/15 390 | 532| - | 880 - - 138.6
65-200/15 390 | 532 - | 880 - - 138.1
65-200/18.5 390 | 532| - | 880 - - 155.8
65-200/22 390 | 532 - | 880 - - 170.6

(*) Only for IE3 Motors

Rev. F

TYPE 1

TYPE 2

409

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3D SERI ES

DIMENSIONS AND WEIGHT S50Hz
Rev. F
PACKING 3DS
Pump type Packing [ mm ] Weight Pack
[kafl | 1ye

X Y Z (*)
32-125/1.1 450 | 250 | 300 [ 32.2 33.8 1 TYP E W
32-160/1.5 350 | 488 | 580 [ 41.2 41.2
32-160/2.2 350 | 488 | 580 [ 43.9 43.9 T
32-200/3.0 350 | 498 | 700 [ 63.4 63.4
32-200/4.0 350 | 498 | 700 [ 63.7 63.7
32-200/7.5 350 | 498 | 700 - 97 o
40-125/1.5 350 | 488 | 580 36 36
40-125/2.2 350 | 488 | 580 [ 39.7 39.7
40-160/3.0 350 | 498 | 700 [ 68.5 68.5 \
40-160/4.0 350 | 498 | 700 [ 56.2 56.2 r By
40-200/5.5 350 | 498 | 700 [ 83.9 83.9
40-200/7.5 350 | 498 | 700 - 101 Z
40-200/11 390 | 598 | 970 - 159.3
50-125/2.2 350 | 498 | 700 [ 42.9 42.9
50-125/3.0 350 | 498 | 700 [ 45.1 45.1 TYP E 2
50-125/4.0 350 | 498 | 700 [ 57.8 57.8 5
50-160/5.5 350 | 498 | 700 [ 81.3 81.3 B R a— —
50-160/7.5 350 | 498 | 700 - 111.8
50-200/9.2 390 | 598 | 880 - 108
50-200/11 390 | 598 | 880 - 138.8
50-200/15 390 | 598 | 880 - 191.9
65-125/4.0 350 | 498 | 700 [ 72.6 72.6 >
65-125/5.5 350 | 498 | 700 [ 81.7 81.7
65-125/7.5 350 | 498 | 700 - 105.6
65-160/7.5 350 | 498 | 700 - 104.8
65-160/9.2 390 | 598 | 880 - 109 1 J t <+
65-160/11 390 | 598 | 970 - 108.8 ‘ 7 ‘
65-160/15 390 | 598 | 970 - 150.9 ‘ ‘
65-200/15 390 | 598 | 880 - 162.9
65-200/18.5 390 | 598 | 970 - 165.5
65-200/22 500 | 727 | 1100 - 219

(*) Only for IE3 Motors

410

5 E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3D SERIES

DIMENSIONS AND WEIGHT

S50Hz

. Weight
Pump type Packing [ mm ] [ kg?]
X Y Z *)
32-125/1.1 394 64.0 65.6
32-160/1.5 434 72.0 72.0
32-160/2.2 75.0 75.0
32-200/3.0 97.5 97.5
32-200/4.0 482 100.5 100.5
32-200/7.5 - 130.7
40-125/1.5 394 89.7 89.7
40-125/2.2 70.5 70.5
40-160/3.0 434 107.0 107.0
40-160/4.0 88.3 88.3
40-200/5.5 118.5 118.5
40-200/7.5 482 127.2
40-200/11 - 154.1
50-125/2.2 93.5 93.5
50-125/3.0 434 104.5 104.5
50-125/4.0 800 1200 | 105.2 105.2
50-160/5.5 482 125.0 125.0
50-160/7.5 129.0
50-200/9.2 137.6
50-200/11 502 157.9
50-200/15 - 167.9
65-125/4.0 84.4 84.4
65-125/5.5 482 128.8 128.8
65-125/7.5 143.5
65-160/7.5 146.7
65-160/9.2 502 151.5
65-160/11 158.3
65-160/15 164.5
65-200/15 547 169.5
65-200/18.5 169.7
65-200/22 224.5

(*) Only for IE3 Motors

Rev. F

PACKING 3DP

411

B Eaana

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3D SERIES

TECHNICAL DATA

S50Hz

Rev. F
MOTOR DATA 3D
Pump type Power Efficiency Capacitor Efficiency (% load) Input Full load current Locked rotor current
Three phase [kw] [A] [A]
Single Phase Thiee Phase kw] | P Single | Three | Single Phase n% Single| Three | Single Phase Three Phase Single Phase Three Phase
Phase| Phase| [uF] | [V] | 50% | 75% | 100% |phase| Phase| 230V |230V[400V|690V| 230V | 230V| 400V | 690 V
3D 32-125/1.1 M 3D 32-125/1.1 11 15 - IE2 315 450 | 79.5 | 82.0 | 825 | 1.51 1.82 6.7 5.6 3.2 - 235 57.0 | 33.0 -
- 3D 32-125/1.1 11 15 - IE3 - - 835 | 84.3 | 84.6 - 1.77 - 5.8 3.3 - - 47.4 | 27.4 -
3D 32-160/1.5 M 3D 32-160/1.5 1.5 2.0 - IE2 40 450 [ 79.5| 82.0| 825 | 2.10 | 1.82 9.6 5.6 3.2 - 47 57.0 | 33.0 -
- 3D 32-160/1.5 1.5 2.0 - IE3 - - 835 | 84.3 | 84.6 - 177 - 5.8 3.3 - - 47.4 | 27.4 -
3D 32-160/2.2 M 3D 32-160/2.2 2.2 3.0 - IE2 50 450 | 83.1| 85.7 | 86.2 | 2.95 | 255 13.3 7.8 4.5 - 63.8 75.0 | 435 -
- 3D 32-160/2.2 2.2 3.0 - IE3 - - 86.2 | 87.0 | 86.0 - 2.55 - 8.2 4.7 - - 66.6 | 38.4 -
- 3D 32-200/3.0 3.0 4.0 - IE2 - - 85.0 | 86.7 | 86.3 - 3.48 - 106 | 6.1 - - 100.0| 57.7 -
- 3D 32-200/3.0 3.0 4.0 - IE3 - - 859 | 87.5| 87.1 - 3.44 - 111 | 6.4 - - 90.0 | 52.0 -
- 3D 32-200/4.0 4.0 5.5 - IE2 - - 84.3 | 87.2 | 87.8 - 4.56 - 151 | 87 - - 151.0| 87.0 -
- 3D 32-200/4.0 4.0 5.5 - IE3 - - 85.8 | 88.3 | 88.4 - 4.52 - 151 | 87 - - 131.8| 76.1 -
- 3D 32-200/7.5 7.5 10.0 - IE3 - - 89.0 | 90.7 | 90.8 - 8.26 - - 136 | 79 - - 144.0 | 83.0
3D 40-125/1,5 M 3D 40-125/1.5 15 2.0 - IE2 40 450 | 79.5 | 82.0 | 825 | 2.10 1.82 9.6 5.6 3.2 - 47 57.0 | 33.0 -
- 3D 40-125/1.5 15 2.0 - IE3 - - 835 | 84.3 | 84.6 - 1.77 - 5.8 3.3 - - 47.4 | 27.4 -
3D 40-125/2.2 M 3D 40-125/2.2 22 3.0 - IE2 50 450 | 83.1| 85.7| 86.2 [ 295 | 2.55 133 78 | 45 - 63.8 75.0 | 435 -
- 3D 40-125/2.2 22 3.0 - IE3 - - 86.2 | 87.0 | 86.0 - 2.55 - 82 | 47 - - 66.6 | 38.4 -
- 3D 40-160/3.0 3.0 4.0 - IE2 - - 85.0 | 86.7 | 86.3 - 3.48 - 106 | 6.1 - - 100.0| 57.7 -
- 3D 40-160/3.0 3.0 4.0 - IE3 - - 85.9 | 87.5| 87.1 - 3.44 - 111 | 6.4 - - 90.0 | 52.0 -
- 3D 40-160/4.0 4.0 55 - IE2 - - 84.3 | 87.2 | 87.8 - 4.56 - 151 | 87 - - 151.0| 87.0 -
- 3D 40-160/4.0 4.0 55 - IE3 - - 85.8 | 88.3 | 88.4 - 4.52 - 151 | 87 - - 131.8| 76.1 -
- 3D 40-200/5.5 55 7.5 - IE2 - - 829 | 86.0 | 87.4 - 6.29 - - 104 | 6.0 - - 116.0 | 67.0
- 3D 40-200/5.5 5.5 75 - IE3 - - 89.2 | 90.6 | 90.4 - 6.09 - - 106 | 6.1 - - 115.3 | 67.0
- 3D 40-200/7.5 7.5 10.0 - IE3 - - 89.0 | 90.7 | 90.8 - 8.26 - - 136 | 79 - - 144.0 | 83.0
- 3D 40-200/11 11.0 | 15.0 - IE3 - - 90.4 | 91.2 | 91.8 - 11.98 - - 21.3| 123 - - 184.0 | 107.0
3D 50-125/2.2 M 3D 50-125/2.2 22 3.0 - IE2 50 450 | 83.1 | 85.7 | 86.2 | 2.95 | 2.55 133 78 | 45 - 63.8 75.0 | 435 -
- 3D 50-125/2.2 22 3.0 - IE3 - - 86.2 | 87.0 | 86.0 - 2.55 - 82 | 47 - - 66.6 | 38.4 -
- 3D 50-125/3.0 3.0 4.0 - IE2 - - 85.0 | 86.7 | 86.3 - 3.48 - 106 | 6.1 - - 100.0| 57.7 -
- 3D 50-125/3.0 3.0 4.0 - IE3 - - 85.9 | 87.5| 87.1 - 3.44 - 11.1| 6.4 - - 90.0 | 52.0 -
- 3D 50-125/4.0 4.0 55 - IE2 - - 84.3 | 87.2 | 87.8 - 4.56 - 151 | 8.7 - - 151.0| 87.0 -
- 3D 50-125/4.0 4.0 55 - IE3 - - 85.8 | 88.3 | 88.4 - 4.52 - 151 | 87 - - 131.8| 76.1 -
- 3D 50-160/5.5 55 7.5 - IE2 - - 829 | 86.0 | 87.4 - 6.29 - - 104 | 6.0 - - 116.0 | 67.0
- 3D 50-160/5.5 55 7.5 - IE3 - - 89.2 | 90.6 | 90.4 - 6.09 - - 106 | 6.1 - - 115.3 | 67.0
- 3D 50-160/7.5 7.5 10.0 - IE3 - - 89.0 | 90.7 | 90.8 - 8.26 - - 136 | 79 - - 144.0 | 83.0
- 3D 50-200/9.2 9.2 12.5 - IE3 - - 90.1 | 90.8 | 90.9 - 10.12 - - 17.2 | 10.0 - - 166.0 | 96.0
- 3D 50-200/11 11.0 | 15.0 - IE3 - - 90.4 | 91.2 | 91.8 - 11.98 - - 21.3| 123 - - 184.0 | 107.0
- 3D 50-200/15 15.0 | 20.0 - IE3 - - 91.2 | 92.0 | 91.9 - 16.32 - - 27.7| 173 - - 225.0 | 130.0
- 3D 65-125/4.0 4.0 55 - IE2 - - 84.3 | 87.2 | 87.8 - 4.56 - 151 | 87 - - 151.0| 87.0 -
- 3D 65-125/4 4.0 55 - IE3 - - 85.8 | 88.3 | 88.4 - 4.52 - 151 | 87 - - 131.8| 76.1 -
- 3D 65-125/5.5 5.5 75 - IE2 - - 829 | 86.0 | 87.4 - 6.29 - - 10.4| 6.0 - - 116.0 | 67.0
- 3D 65-125/5.5 5.5 75 - IE3 - - 89.2 | 90.6 | 90.4 - 6.09 - - 106 | 6.1 - - 115.3 | 67.0
- 3D 65-125/7.5 7.5 10.0 - IE3 - - 89.0 | 90.7 | 90.8 - 8.26 - - 136 | 79 - - 144.0 | 83.0
- 3D 65-160/7.5 7.5 10.0 - IE3 - - 89.0 | 90.7 | 90.8 - 8.26 - - 136 | 7.9 - - 144.0 | 83.0
- 3D 65-160/9.2 9.2 125 - IE3 - - 90.1 | 90.8 | 90.9 - 10.12 - - 17.2 | 10.0 - - 166.0 | 96.0
- 3D 65-160/11 11.0 | 15.0 - IE3 - - 90.4 | 91.2 | 91.8 - 11.98 - - 21.3| 123 - - 184.0 | 107.0
- 3D 65-160/15 15.0 | 20.0 - IE3 - - 91.2 | 92.0 | 91.9 - 16.32 - - 27.7| 17.3 - - 225.0 | 130.0
- 3D 65-200/15 15.0 | 20.0 - IE3 - - 91.2 | 92.0 | 91.9 - 16.32 - - 27.7| 17.3 - - 225.0 | 130.0
- 3D 65-200/18.5 18.5 | 25.0 - IE3 - - 91.6 | 93.0 | 92.6 - 19.98 - - 35.0 | 20.3 - - 328.0 | 190.0
- 3D 65-200/22 22.0 | 30.0 - IE3 - - 92.0 | 93.1 | 93.2 - 23.58 - - 39.7 | 23.6 - - 391.0 | 227.0

500

E2ARA

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3D SERIES

TECHNICAL DATA

S50Hz

MOTOR DATA 3DS-3DP

Rev. F

Motor Efficiency (% load) Full load current Locked rotor current
Power x A
Pump type Motor Effciency Input and power-factor [A] [A]
X [kw] n% cos—¢ [ 230V | 400V | 690V | 230V | 400V | 690V
Size | [kw] | [HP]
50% 75% 100%
11| 15 IE2 1,35 79.5 81.2 81.5 0.78 4.3 25 - 29.4 17.0 -
3DS 32-125/1.1 3DP 32-125/1.1 80
11| 15 IE3 1.26 78.7 81.7 82.7 0.76 4.2 2.4 - 38.7 22.3 -
15 2 IE2 1,77 81,0 82.8 82.8 0.80 5.5 3.2 - 44.9 25.9 -
3DS 32-160/1.5 3DP 32-160/1.5 920 S
15 2 IE3 1.77 83.2 84.8 84.2 0.85 5.2 3.0 - 43.6 25.2 -
2.2 3 IE2 2,59 82.5 84.0 84.0 0.85 7.6 4.4 - 64.8 37.4 -
3DS 32-160/2.2 3DP 32-160/2.2 90L
2.2 3 IE3 2.61 85.0 86.2 86.5 0.82 8.0 4.6 - 73.3 42.3 -
3 4 IE2 3,43 84.1 85.8 85.5 0.84 10.2 5.9 - 81.8 47.2 -
3DS 32-200/3.0 3DP 32-200/3.0 100L
3 4 IE3 3.45 82.3 85.8 87.1 0.89 9.7 5.6 - 85.4 49.3 -
4 5.5 IE2 4,64 85.2 86.4 86.1 0.86 13.5 7.8 - 110.9 64.0 -
3DS 32-200/4.0 3DP 32-200/4.0 |112M
4 5.5 IE3 4.51 86.8 87.8 88.1 0.93 12.1 7.0 - 116.4 67.2 -
3DS 32-200/7.5 3DP 32-200/7.5 132s| 7.5 10 IE3 8.35 88.6 89.2 90.1 0.92 - 13.1 7.6 - 116.6 67.3
15 2 IE2 1,77 81.0 82.8 82.8 0.80 5.5 3.2 - 44.9 25.9 -
3DS 40-125/1.5 3DP 40-125/1.5 90S
15 2 IE3 1.77 83.2 84.8 84.2 0.85 5.2 3.0 - 43.6 25.2 -
2.2 3 IE2 2,59 82.5 84.0 84.0 0.85 7.6 4.4 - 64.8 37.4 -
3DS 40-125/2.2 3DP 40-125/2.2 90L
2.2 3 IE3 2.61 85.0 86.2 86.5 0.82 8.0 4.6 - 73.3 42.3 -
3 4 IE2 3,43 84.1 85.8 85.5 0.84 10.2 5.9 - 81.8 47.2 -
3DS 40-160/3.0 3DP 40-160/3.0 100L
3 4 IE3 3.45 82.3 85.8 87.1 0.89 9.7 5.6 - 85.4 49.3 -
4 5.5 IE2 4,64 85.2 86.4 86.1 0.86 13.5 7.8 - 110.9 64.0 -
3DS 40-160/4.0 3DP 40-160/4.0 |112M
4 5.5 IE3 4.51 86.8 87.8 88.1 0.93 12.1 7.0 - 116.4 67.2 -
55| 75 IE2 6,34 85.8 87.4 87.3 0.88 - 10.4 6.0 - 83.2 48.0
3DS 40-200/5.5 3DP 40-200/5.5
132S| 55| 7.5 IE3 6.24 88.0 88.5 89.2 0.90 - 10.0 5.8 - 89.0 51.4
3DS 40-200/7.5 3DP 40-200/7.5 7.5 10 IE3 8.35 88.6 89.2 90.1 0.92 - 13.1 7.6 - 116.6 67.3
3DS 40-200/11 3DP 40-200/11 160M | 11 15 IE3 12.15 87.4 89.8 91.2 0.89 - 19.7 | 11.4 - 179.3 | 103.5
2.2 3 IE2 2,59 82.5 84.0 84.0 0.85 7.6 4.4 - 64.8 37.4 -
3DS 50-125/2.2 3DP 50-125/2.2 90L
2.2 3 IE3 2.61 85.0 86.2 86.5 0.82 8.0 4.6 - 73.3 42.3 -
3 4 IE2 3,43 84.1 85.8 85.5 0.84 10.2 5.9 - 81.8 47.2 -
3DS 50-125/3.0 3DP 50-125/3.0 100L
3 4 IE3 3.45 82.3 85.8 87.1 0.89 9.7 5.6 - 85.4 49.3 -
4 5.5 IE2 4,64 85.2 86.4 86.1 0.86 13.5 7.8 - 110.9 64.0 -
3DS 50-125/4.0 3DP 50-125/4.0 112M
4 5.5 IE3 4.51 86.8 87.8 88.1 0.93 12.1 7.0 - 116.4 67.2 -
55| 7.5 IE2 6,34 85.8 87.4 87.3 0.88 - 10.4 6.0 - 83.2 48.0
3DS 50-160/5.5 3DP 50-160/5.5
132S| 55 | 75 IE3 6.24 88.0 88.5 89.2 0.90 - 10.0 5.8 - 89.0 51.4
3DS 50-160/7.5 3DP 50-160/7.5 7.5 10 IE3 8.35 88.6 89.2 90.1 0.92 - 13.1 7.6 - 116.6 67.3
3DS 50-200/9.2 3DP 50-200/9.2 132M| 9.2 | 125 IE3 10.17 88.6 89.8 90.7 0.89 - 16.5 9.5 - 166.7 96.2
3DS 50-200/11 3DP 50-200/11 160M 11 15 IE3 12.15 87.4 89.8 91.2 0.89 - 19.7 | 11.4 - 179.3 | 103.5
3DS 50-200/15 3DP 50-200/15 15 20 IE3 16.46 91.0 91.3 91.9 0.89 - 26.7 | 15.4 - 259.0 | 1495
4 5.5 IE2 4,64 85.2 86.4 86.1 0.86 13.5 7.8 - 110.9 64.0 -
3DS 65-125/4 3DP 65-125/4 112M
4 5.5 IE3 4.51 86.8 87.8 88.1 0.93 12.1 7.0 - 116.4 67.2 -
55| 7.5 IE2 6,34 85.8 87.4 87.3 0.88 - 10.4 6.0 - 83.2 48.0
3DS 65-125/5.5 3DP 65-125/5.5
1325 55| 7.5 IE3 6.24 88.0 88.5 89.2 0.90 - 10.0 5.8 - 89.0 51.4
3DS 65-125/7.5 3DP 65-125/7.5 7.5 10 IE3 8.35 88.6 89.2 90.1 0.92 - 13.1 7.6 - 116.6 67.3
3DS 65-160/7.5 3DP 65-160/7.5 7.5 10 IE3 8.35 88.6 89.2 90.1 0.92 - 13.1 7.6 - 116.6 67.3
3DS 65-160/9.2 3DP 65-160/9.2 132M| 9.2 | 125 IE3 10.17 88.6 89.8 90.7 0.89 - 16.5 9.5 - 166.7 96.2
3DS 65-160/11 3DP 65-160/11 11 15 IE3 12.15 87.4 89.8 91.2 0.89 - 19.7 | 11.4 - 179.3 | 103.5
3DS 65-160/15 3DP 65-160/15 160M | 15 20 IE3 16.46 91.0 91.3 91.9 0.89 - 26.7 | 15.4 - 259.0 | 1495
3DS 65-200/15 3DP 65-200/15 15 20 IE3 16.46 91.0 91.3 91.9 0.89 - 26.7 | 15.4 - 259.0 | 1495
3DS 65-200/18.5 3DP 65-200/18.5 | 160L | 18.5| 25 IE3 20.12 91.6 92.8 92.4 0.88 - 33.0 | 19.1 - 353.1 | 203.9
3DS 65-200/22 3DP 65-200/22 180M | 22 30 IE3 23.69 92.3 92.9 92.9 0.90 - 38.0 | 22.0 - 361.0 | 209.0

501

B Eaana

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3D SERIES

TECHNICAL DATA S50Hz
Rev. F
3D NOISE DATA
Power
Pump type Loa- dB(A) *
[kW] [HP]
3D 32-125/1.1 (M) 1,1 1,5
3D 32-160/1.5 (M) 15 2,0 69
3D 32-160/2.2 (M) 2,2 3,0
3D 32-200/3.0 3,0 4,0
3D 32-200/4.0 4,0 55 °
3D 32-200/7.5 7,5 10,0 79
3D 40-125/1.5 (M) 1,5 2,0
3D 40-125/2.2 (M) 2,2 3,0 %9
3D 40-160/3.0 3,0 4,0
3D 40-160/4.0 4,0 55 °
3D 40-200/5.5 55 7,5
3D 40-200/7.5 7,5 10,0 79
3D 40-200/11 11,0 15,0 82
3D 50-125/2.2 (M) 2,2 3,0 69
3D 50-125/3.0 3,0 4,0
3D 50-125/4.0 4,0 55 °
3D 50-160/5.5 55 7,5
3D 50-160/7.5 7,5 10,0 7
3D 50-200/9.2 9,2 12,5
3D 50-200/11 11,0 15,0 8
3D 50-200/15 15,0 20,0 86
3D 65-125/4.0 4,0 55 76
3D 65-125/5.5 55 7,5
3DM 65-125/7.5 7,5 10,0 79
3D 65-160/7.5 7,5 10,0
3D 65-160/9.2 9,2 12,5
3D 65-160/11 11,0 15,0 82
3D 65-160/15 15,0 20,0
3D 65-200/15 15,0 20,0
3D 65-200/18.5 18,5 25,0 8
3D 65-200/22 22,0 30,0
* Mean value of several measures at 1m distance around the pump.
Tolerance *2.5dB.
502

B Eaana

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3D SERIES

TECHNICAL DATA

3DS-3DP NOISE DATA

Motor
Pump type Motor Power Lpa- dB(A) *

Size | [kW] | [HP]
3DS 32-125/1.1 3DP 32-125/1.1 80 1.1 1.5
3DS 32-160/1.5 3DP 32-160/1.5 90S 15 2
3DS 32-160/2.2 3DP 32-160/2.2 90L 2.2 3 <70
3DS 32-200/3.0 3DP 32-200/3.0 100L 3 4
3DS 32-200/4.0 3DP 32-200/4.0 112M 4 55
3DS 32-200/7.5 3DP 32-200/7.5 132S 7.5 10 72
3DS 40-125/1.5 3DP 40-125/1.5 90S 1.5 2
3DS 40-125/2.2 3DP 40-125/2.2 90L 2.2 3 <70
3DS 40-160/3.0 3DP 40-160/3.0 100L 3 4
3DS 40-160/4.0 3DP 40-160/4.0 112M 4 55
3DS 40-200/5.5 3DP 40-200/5.5 1325 55 7.5 72
3DS 40-200/7.5 3DP 40-200/7.5 7.5 10
3DS 40-200/11 3DP 40-200/11 160M 11 15 74
3DS 50-125/2.2 3DP 50-125/2.2 90L 2.2 3
3DS 50-125/3.0 3DP 50-125/3.0 100L 3 4 <70
3DS 50-125/4.0 3DP 50-125/4.0 112M 4 55
3DS 50-160/5.5 3DP 50-160/5.5 1325 55 7.5
3DS 50-160/7.5 3DP 50-160/7.5 7.5 10 72
3DS 50-200/9.2 3DP 50-200/9.2 132M 9.2 12.5
3DS 50-200/11 3DP 50-200/11 160M 11 15 74
3DS 50-200/15 3DP 50-200/15 15 20
3DS 65-125/4 3DP 65-125/4 112M 4 55 <70
3DS 65-125/5.5 3DP 65-125/5.5 55 7.5
3DS 65-125/7.5 3DP 65-125/7.5 132S 7.5 10 72
3DS 65-160/7.5 3DP 65-160/7.5 7.5 10
3DS 65-160/9.2 3DP 65-160/9.2 132M | 9.2 12,5
3DS 65-160/11 3DP 65-160/11 11 15
3DS 65-160/15 3DP 65-160/15 160M 15 20 74
3DS 65-200/15 3DP 65-200/15 15 20
3DS 65-200/18.5 3DP 65-200/18.5 160L 18.5 25
3DS 65-200/22 3DP 65-200/22 180M 22 30 77

* Mean value of several measures at 1m distance around the pump.
Tolerance *2.5 dB.

503

B Eaana

EBARA PUMPS EUROPE S.p.A.



	3D SERIES
	Contents
	Specification
	Performance Range
	Selection chart
	Type key
	Performance curve specifications
	MEI Index specification
	Performance curve 32-125

	Performance curve 32-160

	Performance curve 32-200 
	Performance curve 40-125
	Performance curve 40-160

	Performance curve 40-200

	Performance curve 50-125 
	Performance curve 50-160

	Performance curve 50-200 
	Performance curve 65-125

	Performance curve 65-160

	Performance curve 65-200


	Construction
	Sectional view drawing 3D
	Sectional view table 3D
	Sectional view table 3DS 32, 40, 50
	Sectional view drawing 3DS 65
	Sectional view table 3DS 65
	Sectional view drawing 3DP
	Sectional view table 3DP
	Mechanical seal (standard, H, E and Q1AEGG) 
	Mechanical seal (HS ø22 and Q14AEGG ø22 )
	Mechanical seal (HS ø30)
	Mechanical seal (HW, HSW, U3U3EGG, Q1Q1EGG, Q1U3EGG AND U3CEGG)
	3D Bearings
	3DS-3DP Bearings 
	3DS Coupling
	3DP Flexible coupling 
	Fittings


	Dimension and weight
	Pump  3D up to 11 kW
	Pump  3D 15 kW and above
	Pump 3DS 32, 40 and 50
	Pump  3DS 32 and 65
	Pump  3DS 40, 50 and 65
	Pump 3DS 32, 40, 50 and 65 drawing
	Pump 3DS 32, 40, 50 and 65 table
	Pump  3DP drawing
	Pump  3DP table
	Packing 3D
	Packing 3DS 
	Packing 3DP 

	Technical data
	Motor data 3D
	Motor data 3DS- 3DP
	3D Noise data 
	3DS-3DP Noise  data 





